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Abstract. These are my solutions to selected problems from chapters 1-5 of
Partial Differential Equations by Robert McOwen. Any mistakes in these
solutions are my own. I plan to write more solutions in the future. If you
would like to speak with me about these solutions (or about anything related
to PDESs) then I can be contacted at mkehoe5Quic.edu.

Contents

Chapter 1 Solutions 4
1 4
1.1.20 0 5
1.1.4 . e )
L.1.5 . o e 8
1.1.6. . . o o e 10
R 13
L.1.8 . o o e 14

Chapter 2 Solutions 15
2. 1.1 0 L 15
2.1.2 0 L 15


mailto:mkehoe5@uic.edu

McOwen Chapters 1 -5

2.1.3 . e 16
2,14 . . L 18
2.1.5 . . e 19
2.1.6. . L e 20
2.01.7 . e 21
2.2.1.b .. 24
2.2.2.8 .. e 25
2.2.3 . e 26
2.2.4 . . L 26
2.2.5 . . e 27
2.3.3 . e 27
2.3.4 . . e 28
2.3.8 . e 29
2.3.9 . e 30
2.3.10 . . . 31
2.3.13.a . . .. 33
Chapter 3 Solutions 35
0 P 35
3. L2 e 36
B 0 0 39
314 e 41
3.1.6. . e 42
3.2.2 . e 44
3.2.3 . e 46
324 e 47



McOwen Chapters 1 -5

B.2.5 . 48
3.3.1 . L e 50
3.3.2 . L e 51
334 . 52
Chapter 4 Solutions 55
R 55
4.1.2 . 0L 56
4.1.3 . . 58
N 59
4.1.5 . . L 61
4.1.6. . . L 62
N e 64
4.2 1 . L e 67
4.2.2 0 0 L 69
4.2.3 . 0 e 69
4.2.4 . . L e 70
R 72
4.2.00 . . L 72
4.2 11 . Lo 75
4.3. 1. . 76
A.4.2. L 76
4.4.3 . . . L 78
4.4.4 . . . L 81
5 82



McOwen Chapters 1 -5

Chapter 5 Solutions 83
5 O 83
5.1.4 . . L L 85
5.5 . . e 86
5.1.7 . e 87
B5.2.2. e 87
5.2.5 . e 88
5.2.7 . e 90
5.2.9 . . L e 93
5.2.11 . . L e e 94

Chapter 1 Solutions

1.1.1 Show that if z = u(z,y) is an integral surface of V = (a, b, ¢) containing
a point P, then the surface contains the characteristic curve x passing through
P. (Assume the vector field V is C*.)

Let x = (x(¢),y(t), 2(t)) be a characteristic curve through P = (z, yo, 20). It

x(t) a z(to) T
must therefore satisfy — |y(¢)| = [b| and |y(to)| = |yo| and thus the
2(t) c 2(to) Zo

characteristic curve x is unique.

Define ¢(t) = z(t) — u(z(t),y(t)). Then, we know from the chain rule that

_ & dm udy c—auy —bu, =0
Tdt tdt Ydt * v

Therefore, ¢(t) = ¢ € R for some constant c.

At t = tg, we have that ¢(to) = z(to) — u(x(to), y(to)) = 20 — u(xo,y0) = 0. So,
as ¢(t) is a constant function and ¢(tp) = 0, we see that ¢(¢) = 0. This means
that the integral surface contains the characteristic curve x. Thus, for any
arbitrary point on x, we have that z(t) = u(x(¢),y(t)).
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1.1.2 If S; and Ss are two integral surface of V' = (a, b, ¢) and intersect in a
curve X, show that x is a characteristic curve.

For a point P € S1 NS, we know from Exercise 1 that the surface S; contains
the characteristic curve I'y passing through P. Analogously, the surface S,
contains the characteristic curve I's passing through P where I'y NI's = P. As
a,b,c € C', we know that the characteristic equations have a unique solution.
So, the characteristic curve passing through P is unique. Therefore,

I't =T'5 € S§1 NSy is the characteristic curve.

1.1.4 Solve the given initial value problem and determine the values of x and
y for which it exists:
(a) zuz +uy =y, u(x,0)=a>

The initial data curve is T : (s, 0, s2). Therefore, the Jacobian evaluated with
the boundary data is

Ts Ty

=1+#0.
Ys Yt 7&

1 s
1

T r

Hence, there is a unique solution in the neighborhood of I'. The characteristic
equations are

d

d—:: =z, z(s,0)=s,
dy

= -
=L y(s0)=0,
d

d—i =y, 2z(s,0)=s%

For the first equation,

dx 1
ik s ;dm:dtz In|z| =t 4+ c1(s).

Plugging in the initial condition of x(s,0) = s = ¢;(s) = In|s|. Hence,
In|z| =t+In|s| = x = se’.

For the second equation,
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d
ﬁzl:dy:dt:y:t+02(s).

Plugging in the initial condition of y(s,0) = 0 = ¢2(s) = 0. Hence,

y =t.

For the last equation,

d t2
d—j:y:dz:tdtzz:g—i—c;g(s).

Plugging in the initial condition of z(s,0) = s* = c3(s) = s®. Hence,

Combining all three equations together, we see that

z = se! = s::re_t7

y=t,
2,
z = 35 + s°.
So, the solution is
2 y?
z=u(z,y) = 3 +52 = 0} +a?e %,

To see if the solution exists for all (z,y) € R?, we can evaluate the Jacobian
for our parameterized equations. We find that the solution exists for all
(z,y) € R%

et set
0 1

Ts Tt

t
=e 0.
Ys Yt 74

(b) Ug — 2uy =u, U(O, y) =Y.
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The initial data curve is I': (0, s, s). Therefore, the Jacobian evaluated with
the boundary data is

o1
1 -2

Ts Tt
Ys Yt

J =—1#£0.

r r ‘

Hence, there is a unique solution in the neighborhood of I'. The characteristic
equations are

E:L 1’(8,0):07
d
d7:z = _2a y(S,O) =S,
d
d—i =2z, 2(s,0)=s.

For the first equation,

d
%:1:>dx:dt:>x:t+c1(8)-

Plugging in the initial condition of z(s,0) =0 = ¢;(s) = 0. Hence,
T =t.

For the second equation,

d
Yo 09— dy = —2dt = y = =2t + c2(s).

dt
Plugging in the initial condition of y(s,0) = s = ¢a(s) = s. Hence,
y=—2t+s.

For the last equation,

d 1
£:2:> ;dz:dt:> In|z| =t + c3(s).
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Plugging in the initial condition of z(s,0) = s = ¢3(s) = In |s|. Hence,

In|z| =t +In|s| = 2 = se'.

Combining all three equations together, we see that

T =1,
y=-2t+s=s=2zx+y,

Z = Set.

So, the solution is

2z =u(x,y) = se' = (2 + y)e®.

To see if the solution exists for all (x,y) € R?, we can evaluate the Jacobian
for our parameterized equations. We find that the solution exists for all
(z,y) € R?.

Ts Tt
Ys Yt

0 1
P Lf=is0

1.1.5 Solve the given initial value problem and determine the values of x,y,
and z for which it exists:
(a) LUy + yuy + Uy = U, U(I, y70) = h(CC,y)

The initial data curve is I": (s1, 82,0, h(s1, s2)). Therefore, the Jacobian
evaluated with the boundary data is

Ts, Tsy Tt 1 0 s
J = |Ysy Yso Yt =10 1 52 # 0.
r Zsy  Rsy  A|IT 0 0 1

Hence, there is a unique solution in the neighborhood of I'. The characteristic
equations are
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d

d%“n =z, x(s1,82,0) = s1,

d

dit/ =y, Y(s1,52,0) = s2,

d

jj:l? Z(81752a0)207

d

di: =w, w(sy,s2,0)=h(s1,s2).

For the first equation,

d 1
d—gtc =z = —dz=dt = In|z| =1+ c1(s1, s2).
T

Plugging in the initial condition of x(s1, $2,0) = s1 = ¢1(s1, $2) = In|s1].
Hence,

In|z| =t+1In|s;| = z = s1€".

For the second equation,

d 1
(Tz =y —= —dy=dt = ln|y| =t+02(81782).
Y

Plugging in the initial condition of y(s1, s2,0) = s3 = c2(81, 82) = In |sa|.
Hence,

In|y| =t+In|sy| = y = sqe’.
For the third equation,

d
d—jzl:dz=dt=>z=t+03(sl,32).

Plugging in the initial condition of z(s1, $2,0) = 0 = ¢3(s1, s2) = 0. Hence,

z=1.

For the last equation,
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d 1
W = —dw = dt = In|w| =t + ca(s1, 52).
dt w

Plugging in the initial condition of w(s1, s2,0) = h(s1,s2) = ca(s1, $2)

= In |h(s1, s2)|. Hence,

In|w| =t +In|h(s1,s2)] => w = h(s1,s2)e’.
Combining all four equations together, we see that

T =351 = 51 =ze ! =ze 7,

z

t —t -
Yy =s2e° = Sy =ye ~=ye 7,

So, the solution is

w = u(x,y,2) = h(s1,s2)e’ = h(ze *, ye *)e*.

To see if the solution exists for all (z,y,2) € R3, we can evaluate the Jacobian
for our parameterized equations. We find that the solution exists for all
(z,y,2) € R3.

1.1.6 Solve the initial value problem and determine the values of z and y for
which it exists:

(b) uz +vVuu, =0, u(z,0)=2z>+1.

The initial data curve is T : (s,0, 52 + 1). Therefore, the Jacobian evaluated
with the boundary data is

Ts Tt
Ys Yt

1 1 S
— 2
F’O /752 1‘ S+17é0.

r

10
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Hence, there is a unique solution in the neighborhood of I'. The characteristic
equations are

d

d%f =1, x(s,0)=s,

d

=VE y(s.0) =0,

d

d—j—O, 2(s,0) = 82 + 1.

For the first equation,

d
d—le:dx:dtﬁm:t—&—cl(s).

Plugging in the initial condition of z(s,0) = s = ¢;1(s) = s. Hence,
r=1t+s.

For the third equation,

EZO:Z:CQ(S).
Plugging in the initial condition of z(s,0) = s? + 1 => ca(s) = s* + 1. Hence,
2z =352+ 1.
For the last equation,
d
d—?:\/§:>dy:ﬂdt:>y:\/32—|—1t+03(8).

Plugging in the initial condition of y(s,0) = 0 = ¢3(s) = 0. Hence,

y=vs2+1t.

Combining all three equations together, we see that

11
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r=1t+s5s=—s=x—1,

y = P2ilt=—t=—t =Y

s2+1 Vz

z2=s82+1.

So, the solution is

zu(x,y)32+1(xt)2+1(z\%)Jrl.

To see if the solution exists for all (z,y) € R?, we can evaluate the Jacobian
for our parameterized equations.

i 1 1 st

_ [T Ty| _ _ 2

= = =vs24+1— ———.
Ys Ut ‘ sy \/82+1’ V21

So, the solution doesn’t exist for all (x,y) € R? since the Jacobian can
evaluate to zero. We need to enforce that J % 0. Thus,

st st 241
82+1_ 7:():}\/82+ = — =t.
Vs?+1 VsZ+1 s

Hence, J =0 <=t = (s> + 1)/s = s + 1/s. The solution doesn’t exist when
this condition is satisfied. Looking back at our parametrized equations

r=1t+s,

y=vVsZ+1t.

We have that the solution doesn’t exist when

12
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1.1.7 Find a general solution:
(a) (x4 w)uy + (y+u)uy =0.

Following what is done by the method of Lagrange, we need to find a function
@(z,y, z) such that ¢(z,y, z) = const is an integral surface of V = (a, b, c).
This means that ¢ is constant along the characteristics and satisfies

ady + bpy +cg, = 0.
Let's do this by analyzing the characteristic equations

dx dy dz

r+z y+z 0

The last equation tells us that z is constant along the characteristics.
Therefore, let

¢($,y,2) =z =Cy,

where one can verify that this satisfies a¢, + bpy + c¢, = 0. We now need to
find another function v (z,y, z) such that ¢ is independent of ¢. So, we once
again review our characteristic equations and rewrite them as

Then

dx dy

= = Inlz+ca|=hly+cl|+c
o | 1 ly +ci| +c2

= Injz+ci| =Inly+c1| + In|es
= In|z+c1| =Inlc(y + 1)
=+ =cy+a)

T+ c

y+c

= C2.

So we see that ay, + by + cip, = 0. Therefore, we have found a second
function v, independent of ¢, such that 1(z,y, z) = constant. This function is

13
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xr+cC xr+z
Y(z,y,2) = = -
y+te y+z

We have now satisfied F(¢,1)) = 0 for an arbitrary F' € C*(R?). So, using the
implicit function theorem, we can set ¢ = f(¢) for an arbitrary function f
where f € C'(R). Then, we can find the general solution as

T+ z r+u
s=o= 1) = 1(22) = 1(E02),

1.1.8 Consider the equation u, + u, = y/u. Derive the general solution
u(z,y) = (x + f(x —y))?/4. Observe that the trivial solution u(z,y) = 0 is not
covered by the general solution.

We first write the characteristic equations as

Then, solving the first equality,

dr=dy=—=zcr=y+c —=zx—y=cy.

So, we have found a function ¢(x,y, z) such that ¢(x,y,z) = x — y = const.
and can verify that this satisfies a¢, + b, + cp. = 0. We now need to find
some (z,y, z) = const which is independent of ¢. By the first and last
equations,

d
da::—z:>dx:zfédz:>a:+02=2\/22>02=2\/2—x.

NE

Therefore our second function is ¥ (z,y, z) = 24/z — © = const. We have that
ay + bipy + cp, = 0. Hence, we have satisfied F(¢, ) = 0 for an arbitrary
F € CY(R?). So, we can let ¢ = f(¢) where f € C1(R) is an arbitrary
function. Then,

14
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Wz—z=flz—y) = 2Vz=z+ f(x —y)
Y- i Gl )|

2
(2 + S —y)?

= z =u(x,y) = 1

To see that u(x,y) = 0 isn't covered by the general solution, we can observe
that for some arbitrary f, where u(x,y) is defined as

(z+ f(z —y))*

u(z,y) = 1 ,

isn't equal to 0 as f is arbitrary. We are not free to choose f so that
u(z,y) = 0. Therefore, the trivial solution u(x,y) = 0 isn't covered by the
general solution.

Chapter 2 Solutions

2.1.1 Consider the initial value problem wu,, = u?uy + (uzy)?,
uw(z,y,0) =z —y, u.(z,y,0) =sinz. Find the values of u,, uy., u.., when
z=0.

We have that u(z,y,0) = x — y, therefore u,(x,y,0) =1 and uy(z,y,0) = —1.
If we take another derivative with respect to x, we see that uzy(z,y,0) = 0.

We also have that u,(x,y,0) =sinz. So, u..(x,y,0) = ug,(x,y,0) = cosx and
Uzy(xa Y, 0) = uyz(xa Y, O) =0.

Therefore, by the definition of u, .,

’LLZZ(CU,:%O) = u(x,y,O)Qum(m,y,0)+(uxy(x7y,0))2 = ($—y)2 x140= (.’E—y)2.

2.1.2 Is the heat equation u; = ku,, in normal form for Cauchy data on the
x-axis? On the t-axis? What form would be Cauchy data (3) take?

The heat equation u; = kug, can be written as u,, = %ut. It is second order
and we can define the initial surface S as

S={(t,z) e R? .z =0},

15
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which is in normal form for Cauchy data on the t-axis (where 2z = 0). It is not
in normal form for Cauchy data on the x-axis. The Cauchy data (3) form
(when z = 0)

u(t, 0) = g1,
Uz(tv 0) = g2

2.1.3 Find a solution to the initial value problem w,, = uzy; + u, u(z,0) = €*
uy(x,0) = 0 in the form of a power series expansion with respect to y [i.e.,
>0 an(z)y™]. (Note: This is not a Taylor series.)

Let u(z,y) = 3277 an(@)y". Then, uga(z,y) = 32,7, ay(x)y"™ and
Uy (T,y) = Y o0 o(n)(n — D)an(2)y™=2). As uy, = uge + u, we have that

i 77,71 y(n 2)72@// y +Zan

n=0

Therefore, we can rewrite the left side of the equation as

Z(n+2)(n+ a2z Za" x)y" + Zan "
n=0 n=0

and move all terms on the left hand side to form

i ( n+2)(n+ Dania(z) —an(x) +an(:1:))y" =0.

n=0

Where

((n+2)(n+ Dansz — (@) + anl2)) =0,

therefore

a;{(x) + an(x)

2 ®) = G R 1)

If we apply our initial conditions, u(z,0) = e” and u,(z,0) = 0, we see that

16
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Zan z)y" = ao(x)+a1(z)y+az(z)y® +as(2)y® +as(z)y* +- - = €.
Therefore, ag(z) = €. Similarly,
a1 (z) + 2as(x)y + 3ag(x)y® + 4as(z)y® + - = 0.

Hence, a;(x) = 0. To find higher coefficients, we review
an (%) + an(z)
20 = G o 1)

where n = 0. Then,

af(x) +ag(z)  2e*

w0 e

So, for n =1,2,3,4,5,... we have

az(x) = 3)2) = 32 =0,
a4(l’) — a/2/($> + a2(-’17) . 2e7 _ 2263:
@B e
ag (x) + a3(x) 0
as(x) = 5)@) 5@ 0,

_aj(z) 4+ as(x) _ e*/3 _ 23e®
(6)(5) 6)(5) 6!

1 n
an(z) = 2ze*, nis even,
(
an(z) =0, n is odd.

17



McOwen Chapters 1 -5

Thus,
o0
u(x,y) = Z an(x)y"
n=0
= ap + a1y + azy® + azy® + a4y4 +asy® + asy® +ary” + ...
e’ 2%e” 23e”
=e” + 91 y? + ol y +.
o0
1
_ Z ok Ty 2k
|
= (2k)

2.1.4 Find the Taylor series solution about z,y = 0 of the initial value
problem u, = sinu,, u(z,0) = =£

From (4), we have that

< 930ku(0,0) .,
~D lkl Yyt

J,k=0

We are given that u(x,0) = %F. Therefore,

u(0,0) = 0,
7r
uz(x,O) - Za
Uz (x,0) =0,
(k)
dut™(z,0) _ 0, Vk>2.

ozk

We also have that u, = sinu,. Thus, by the chain rule,

uy(z,0) = sinug (z,0) = sm(Z) = V2

2
Uyz(2,0) = (sinuy(x,0))y = cosuz(x, 0)ugy(z,0) =
Ugy (2,0) = (sinug(z,0)), = cosug(x, 0)ug,(z,0) =
ouF+9) (. 0)

9210y =0, V(+k) >2

Therefore, letting © — 0 we see from (4) that

18
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u(z,y) = -z + —x+

s \/5_77 1
YTt B

2.1.5 Consider the initial value problem u; = tzz, u(z,0) = g(z), where
g(x) = a™z™ 4 - - - + ag is a polynomial. Find a Talor series solution about
(0,0). Where does it converge?

As uy = ug,, we have that

Ut = (uww)t = (uwz>mw = Ugzzx,
Ut = (umzmm)t - (uxa:mz)z:c = Uggzzax

Uttt = (uwxmzwm)t = (uwa:xzww)ww = Ugzzzzzze,

Therefore,

& 0Fu(x,0) = 87, 0Fu(x, 0) = g2 (x).

TTr-xT

By (4) we define the power series of u by

> 9 0ku(0,0)
u(z,t) = Z Lz a:_?]f" )tJ:L‘k
§,k=0 J:R

g2j+k(x)

m. So, the Taylor series
j !

where the last equality follows from agjir =

solution about (0, 0) is

2j+k=n

2j + k)! |
u(z,t) = Z (]j'k'>azj+kt]xk.
J,k=0 o

As the above representation is a polynomial, it is clear that the solution
converges everywhere.

19
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2.1.6 Consider the same initial problem as in the preceeding exercise, but
with g(x) = (1 —iz)~!, which is real analytic for —oo < z < co. Derive the
formal Taylor series solution u(z,t), but show that it fails to converge for any
x,t with £ # 0. Why does this not violate the Cauchy-Kovalevski theorem?

As before, u; = ug., and we have that

Ut = (ul’w)t = (uwz)wz = Ugzzx,

Therefore,

A% u(x,0) = 91 8% u(x,0) = g¥+* (z).

By (4) we define the power series of u by

x J ok
u(z,t) = Z 7& a??k(!o’o)tjxk

4,k=0
Al
=0 k!
oo . 2k
o 3 U2
} k!
7,k=0

So, the Taylor series solution is

s

J,k=0

If ¢ # 0, then we notice that the coefficients of u(z,t) depend on (iz)’ which
depends on i. Therefore, there isn’t a unique real analytic solution of u(z,t)
defined in the proper neighborhood. So, we cannot apply the
Cauchy-Kovalevski theorem as there isn’t a unique real analytic solution of u.
Hence, the Cauchy-Kovalevski theorem isn’t violated.

20
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2.1.7 Consider the Cauchy problem for Laplace's equation g, + uyy = 0,
u(z,0) = 0, uy(x,0) = k' sin kx, where k > 0. Use seperation of variables to
find the solution explicitly. If we let & — oo, notice that the Cauchy data
tends uniformly to zero, but the solution does not converge to zero for any

y # 0. Therefore, a small change from zero Cauchy data [which has the
solution u(z,y) = 0] induces more than a small change in the solution; this
means that the Cauchy problem for the Laplace equation is not well posed.

Assume u(z,y) = X (2)Y (y), then uy, = X" (2)Y (y) and uyy = X (2)Y"(y), so
substitution in the PDE produces g, + uyy = X" (2)Y (y) + X(2)Y"(y) = 0.
We can therefore algebraically separate the variables x and y and set them
equal to a constant —\2,

X”(x) 7Y”(y)

X@) Y o

This gives us two equations to solve

)2
X))
V')
Y

For the first equation,

X// (l‘)
X(x)

=\ = X"(z)+)X(z)=0.

Using the characteristic equation of the form X (z) = ", one finds that
2+ A% =0,

with the roots of » = £\i. Therefore,

X (x) = ¢1 cos (Ax) + cosin (Az).

Next, for the second equation,

Y'(y)
Y(y)

=) = Y"(y) - \Y(y) =0.

21
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Using the characteristic equation of the form Y (y) = e"¥, one finds that

r? =\ =0,
with the roots of r = £\. Therefore,

Y (y) = cze™ + cue™ M,

Our initial data states that u(x,0) = 0. This means that

u(z,0) = X(2)Y(0) = (¢1 cos (Az) + co sin (Ax))(es 4+ ¢4) = 0,

and if we expand and reduce terms we find that c3 = —c4. Our next initial
condition is uy(x,0) = k! sin kx. Therefore,

uy(z,0) = X (2)Y'(0) = (¢1 cos (Ax) + casin (Ax))(ca\ — cs\) = k™' sin ka,
and as c3 = —c4 we have that

uy(z,0) = (1 cos (Ax) + casin (Ax))(—2c4A) = k™' sin kz.

If we expand and equate terms, we find that

C1 0,
k=,
(3263/\ = - —= C(9C3 = —k 2.

Hence,

u(x,y) = X(2)Y (y)
= (c1 cos (Az) 4 cosin (Az))(cze + cqe™ M)
= (cosin (kx))(cze¥ — cze™Y)
= cycgsin (ka)(eFV — e=FY)
= %le sin (kx) (e — ™)
= k™2 sin(kx) sinh(ky),
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eky — e—ky

where the last equality follows from sinh(ky) = 5

Next, let K — oco. Then it is clear that the Cauchy data tends uniformly to
Zero as

u(z,0) =0,

lim u,(z,0) = lim k™ 'sinkz = 0.
k— o0 k—o0

But, as k — oo, the solution does not converge to zero for any y # 0. We
found that

u(z,y) = k™ 2sin(kx) sinh(ky).

It is clear that as k — oo, sin (kz) is bounded. However, we have that as
k— oo

1
sinh(ky) — ieky when y > 0,
. 1 4
sinh(ky) — —3¢ Y when y < 0,

as e dominates when y > 0 and e~ *¥ dominates when y < 0. Then, as the
exponential grows faster than a power,

e
klim 72 =™ when y > 0,
— 00
et
klim Tz = —oo when y < 0.
—00

So, the Cauchy data tends uniformly to zero while the solution does not
converge to zero for any y # 0. Hence, a small change from zero Cauchy data
[which has the solution u(z,y) = 0] induces more than a small change in the
solution; this means that the Cauchy problem for the Laplace equation is not
well posed.
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2.2.1.b Reduce to canonical form:

2 2
T Uz — Y Uyy = 0.

Here, b — 4ac = 0 — 4(2?)(—y?) = 42%y® > 0, so we have the hyperbolic case.
Then,

dy _ 0% ViAxy? Ly

dz 222 x’

So, the characteristic curves are

d
Ww_Y¥v _ In|y| +In|ei| =Injz| = ¢ :£7
dr =z Y
d
VoV pyl=—Infz[+ e = c=ay.
dz x
Let pp=ay~! and n=zy. Then, iy =y~, py = —ay~? 0 =y, and n, = =.
Thus,

Uy = Uy fby + UpNy = y_luu + Yunp,
Uy = Uppty + Uylly = —2Y Uy + Ty,
Uz = yil(u#uﬂm + Wpnn) + Y(Upnz + Ugynz) = yizuuu + 2upy + yzum]a

Uyy = 2953/_3“/1_‘”1‘/_2(“Wﬂy"‘“unny)+x(“un/‘y+“nn’7y) = x2i‘/_4uwt_23529_2“#?7"‘2353/_3“#"‘332“7777‘

If we substitute these values back into the PDE, z%u,, — yzuyy =0, we form

2“w + 2952“#77 + x2y2um,) + (_352?42”## + 2952“#77 - 2xy_1u# - 55292“?777)
= d2”u,, — 22y tu,

=0.

2 2 2, —
xuzz_yuyy:(xy

Therefore,

1 1
2 ~1
AUy = 22y Uy = Uy = %uu = %uﬂ.

1
50, Uy = %uu is the canonical form where = zy~! and n = zy.
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2.2.2.a Find the general solution:

Ugy — 2Ugy SINT — Uy cos’z — Uy cos T = 0.

We have that a = 1, b = —2sin(x), and ¢ = — cos?(z). Thus,
b? — dac = 4sin®(z) + 4 cos?(z) = 4 > 0 and the equation is hyperbolic. Then,

dy _ —2sin(z) £ V4

g = 5 = —sin(z) £ 1.

So, the characteristic curves are

d

d—y:—sin(as)—l—l = y=cos(x)+r+c1 = ¢ =y—x—cos(x),
x

dy .

d—:—sm(x)—l = y=cos(x) —r+ca = co=y+x— cos(x).
x

Let pp =y — x — cos(z) and n = y + = — cos(x). Then, p, =sin(z) — 1, p, =1,
Nz = sin(z) + 1, and 7, = 1. Thus,

Uy = Uy fby + UpNz = (Sin(x) - l)u/t + (Sin(.]?) + 1)”"}7
Uy = Upfly + UpTly = Uy + Uy,

Uzz = (Sin(2) — 1) (upppta + upyna) + (SI0(2) + 1) (Wunpta + tagnTe)
= (sin(x) — 1)%uu, + 2 €08 (2)uuy, + (sin(z) + 1)%uyy, + cos(x)u, + cos(x)uy,

Uyy = (Uppfly + UpnTy) + Wty + UgyNy) = Uy + 2y, + Uy,

Ugy = (sin(@) — 1) (uppbty + wpnny) + (sin(@) + 1) (wuntly + tyyny)
= (sin(x) — 1)upy, + 2sin(x)uyy, + (sin(z) + 1),
If we insert these terms back into
Ugy — 2Ugy SINT — Uy cos’z — uy cos T = 0,
then a large amount of terms cancel and we end up with
Upy = 0.

Integrating twice we find that
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u= f(u) +g(n).

Substituting u = y — x — cos(x) and n = y + & — cos(z) we have that the
general solution is

w(z,y) = fly —x — cos(z)) + g(y + = — cos(z)).

2.2.3 Show that the function

(@) 0, ifz <y,
u\x, = A
PV @-y? it >y,

satisfies Uy, — uyy = 0 for all z,y. Is u € C*(R?)? Where does u fail to be C??
If 2 <y, then u(x,y) = 0 and it is clear that uy, — uyy =0 for all x < y.

On the other hand, if z > y then u(x,y) = (x — y)?. Thus,

Therefore, tye —Uyy = 2—2 = 0 for all z > y. Hence, uys —uyy = 0 for all z,y.

We have that u € C1(R?) as the first derivatives are continuous for x and y.
We can also make u,(x,y) =0 and uy(z,y) = 0 when 2 > y so that we don’t
have a jump discontinuity between x < y and = > y.

This same strategy doesn’t work for the second derivatives of u. When x < y,
we have that ugq(x,y) = 0 and uyy(z,y) = 0. But, if 2 >y, then uy,(z,y) =2
and uy, (z,y) = 2. So, we must have some point of discontinuity when the
derivative changes from 0 to 2.

2.2.4 Show that the minimal surface equation
(14 u2) gy — 2ugtiy Uy + (1 + u2)uy, = 0 is everywhere elliptic.

Here, a = (1+u2), b = —2u,u,, and ¢ = (1+u2). Thus,
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b2 — dac = 4uiu§ —4(1+ uZ)(l +u?)
— 42,2 2 2 2.2
= duzuy — 4 — duy — duy, — dugu,
= —du? — du? — 4

= —4(u} + ul +1).

Therefore, b* — 4ac = —4(u2 + u + 1) < 0 for every u, and u,. Hence, the
minimal surface equation is elliptic everywhere.

2.2.5 Show that the Monge-Ampeére equation gy, — uiy = f(x) is elliptic
for a solution u exactly when f(x) > 0. [In this case the graph of u(z,y) is
convex.]

As we have a quasilinear or fully nonlinear second order equation, we write
F($, Y, Uy Ugy Uy y Uy Uy s uyy) =0. Thus,

oF
“= Mgy = Yoy
OF
b= 8'Uzzy - _Qnya
oF
c= = Uyy.
Oy

Hence,

b — dac = 4uiy — Ay Ugs
= 4(“92cy — UggUyy)
= 4(=f(z)),
and if f(x) > 0, then it is clear that b? — 4ac = —4f(z) < 0 is elliptic.

2.3.3 Consider the first-order equation u; + cu, = 0.

(a) If f € C(R), show that u(z,t) = f(x — ct) is a weak solution.
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A weak solution must satisfy [ u(vi+cv;)dz = 0 for all v € C§(2). By changing
variables (z,t) to (§,n) where £ = x — ¢t and 7 = z + ct, we have that u(z,t) =
flx—ct) = f(§). Also, v; = —cv¢ + cvyy and v, = ve + vy, 50 we have v, + cv, =
2cv,,. Hence,

/u(vt + cvg)dx = 20/ F(&)v,(&,m)dédn =0 for all v € CF(R?).
Q
Therefore, u(z,t) = f(x — ct) is a weak solution.
(b) Can you find any discontinuous weak solutions?

Take f(u) = f(x — ct) with discontinuous f(s) as

f(s) = {1, s <0,

0, s>0.

Then, this discontinuous function is a weak solution.

(c) Is there a transmission condition for a weak solution with jump disconti-
nuity along the characteristic z = ct?

No. The transmission condition is given by

/ [t (0, 7) — u™ (0, 7)oy (0, )y = 0.

So, there is not a weak solution with jump discontinuity along & = 0.

2.3.4 If f € L} (), define (Ff,v) = [, f(z)v(z) du. Show that Fy is a

loc
distribution in €.

We know that F is linear. We need to show that Fy € D’(f), the space of
distributions. In order to prove this, we need to show that if

Vi = U, in C5°(Q2) as j — oo,

then
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(Ff,v;) = (Ff,v), as j — oo.

Let € > 0. As v; — v, there exists a compact set K C 2 such that the v;’s and
v are all supported in K. Therefore, we can choose a € > 0 small enough so that

6// |f(x)| dx <.
k
Then, as v; — v, we also know that 3N € N such that
lvj(z) —v(z)] <€, for all j > N and all z € Q.

Therefore, we have that

(Fy,v5) = (Fy,v)

< /k F@) s (&) — v(@)] da < ¢ /k F(@)] dz <

for all j > N. Hence, (Fy,v;) = (Ff,v).

2.3.8 For all n € N, define a function f, : R — R by

n 1 1

—, for —— <z < —,

fn(x) =32 n 1 n
0, for |z|> —.
n

Show that f,(x) — d(x) as distributions on R. That is, we need to show that
fn — 6 in D'(R), the space of distributions, as n — oo.

Therefore, we need to show that for all v € C§°(R),

n—oo

(6,v) = lim [ fo(z)v(z) dov =v(0).
R

But, from the definition of f,,, we see that
1
/fn(x)u(x) dx = E/ v(x) dx.
= 2/
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The mean value theorem for integrals states that if g(x) is a continuous function
on [a, b], then there exists a point ¢ € [a, b] such that

b
[ stz = g0~ a).

Therefore, we see that there exists a z,, € [-1, 1] such that

/7 v(w) dz = V(xn)%.

Hence, we have that

/an(x)u(a:) do = g/_ () dz = v(zn),

where v(z,,) — v(0) as n — oo. Hence, (§,v) = v(0).

2.3.9 If f,(z) and f(x) are integrable functions such that for any compact
set K C Q we have [ |fn(x) — f(z)|dz — 0 as n — oo, then f, — f as
distributions.

We need to show that {f,,v) — (f,v) for all v € C§°(Q2). So, we need to prove
that

lim |(f,v) = (f,0)| = lim |(f, — f,v)| = lim ‘/ flvdz| = 0.

n—0o0 n—oo n—oo

As v € CP°(Q), we know that v must be bounded. Set sup,cg |v(z)] = M
Then,

lim ‘/ fv dz
n—oo

and as [ |fn(z) — f(2)|dz — 0 as n — oo, it follows that

lim ‘/ fv dx
n—oo

30
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Hence, (fn,v) — (f,v) for all v € C§°(Q).

2.3.10 Let a € R, a # 0.

(a) Find a fundamental solution for L = d/dx — a on R (i.e., solve dF'/dx —
aF =9).

We are given that

dF
— —aF =4.
dx “

This is a linear first-order ODE. The integration factor is e~ J ad# = ¢—ax

can multiply both sides of the ODE to form

, SO wWe

d —ax _ _—ax
%(e F) =e™%.

But, e7%*§ = §, so we only need to solve

d —azx _

As H' = §, where H is the Heaviside function, we have

d

_ —OLIF — H/
dx (e ) ’

thus we can integrate both sides to form

This is one solution to the ODE in the form F = He®”. We can verify that
this is a fundamental solution. A method of checking our answer is by using the
definition

LF =6 < (F,L'v) =v(0) forall v e C3°(R).
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Here, L = d/dx — a and so its adjoint L' is defined by L' = —d/dxz — a. So, by
our definition of F above,

(F,L'v) = /Re’”H(:c)(fz/(x) — av(z))dx

_ /Ooo % (< (z) — av(x))de

__ /OOO %(e‘”y(x))dx

=00

= —e"v(z)

= v(0),

z=0

where the last equality follows since v has compact support.

(b) Show that a fundamental solution for L = d?/dz*—a? = (d/dx+a)(d/dz—
a) on R is given by

Fa) = a~!sinh ax, ?f x>0,
0, if x <0.

We have that LF = § is equivalent to (by (55))

(F,L'v) = /RF(x)L’V(a:)dx =v(0) forallve CF(Q).

Here, L' = L, so we have that

(F,L'v) = /]RF(LE)(V”(QC) — a?v(z))dx

= /OO a”tsinhaz (v (x) — a*v(x))dx
0

= /OOO a~'sinhaz (V" (x))dx — /000 asinh az(v(z))dz

=L+ R.
Where
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L:/ a~ ! sinh ax (V" (x))dz,

0

R= 7/ asinh az(v(z))dz,
0

we need to show that L + R = v(0). So, we can use integration by parts on L
to produce

T=00

L = [a"'sinh ax(u’(m))] - /0C><> cosh az(v'(x))dx.

=0

The boundary terms vanish as sinh(0) = 0 and v/(z) = 0 when  — oo. There-
fore,

L=- /000 cosh ax (V' (z))dw.

If we integrate by parts again, we form

L=v(0)+ /000 asinh az(v(z))dx.

Hence, L + R = v(0) and we have shown that (F, L'v) = v(0). Thus, F'(z) is a
fundamental solution.

2.3.13.a Using (i, n) = d(u)d(n), show that each of the following functions is
a fundamental solution of L = 92/0udn:

Fi(p,m) =H(p)H(n),  Fa(p,n) =—H(u)H(-n),
F3(H” 77) = 7H(7:L")H(n)a F4(N’a 77) = H(*M)H(*n)

We have that LEF = § is equivalent to (by (55))
(F,L'v) = / F(z)L'v(z)dz = v(0), for all v € C§°(Q).

So, we need to analyze the four different cases.

Case 1: Fy(u,n) = H(u)H(n). We know that H'(z) = §(z). So, we have that

33



McOwen Chapters 1 -5

82

= g (HOH)
0

= 5 (H'wHm)
= H'(u)H'(n)

= 6(u)d(n)
=6(psm).

LF,

Therefore, Fy(p,n) is a fundamental solution.

Case 2: Fy(u,nm) = —H(u)H(—n). As H'(—x) = H'(z) and §(z) = 6(—z) we
have by the chain rule that

LFy =

(- H(M)H(—n))

33

= 5 (W )
= 3 (0 )
— 1 H' ()

= s(u)é(o)
)

Therefore, Fa(p,n) is a fundamental solution.

Case 3: Fs(p,n) = —H(—p)H(n). We have that

LE 83;7 (- H=wHm)

— o (HmHwm)
= H'(u)H'(n)
= 0(1)d(n)

=6(p,m).

Therefore, F3(u,n) is a fundamental solution.

Case 4: Fy(u,n) = H(—p)H(—n). As 6(x) = 6(—=x), we have that
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82

S (H (= (=n))
0

= 5 (~ HCwH()
=H'(—p)H'(-n)

= 6(=p)d(-n)
=6(u)d(n)
= 5(#) 77)

LF, =

Therefore, Fy(u,n) is a fundamental solution.

Chapter 3 Solutions

3.1.1 Solve the initial value problems:
(a) uy — ug, = 0, with u(x,0) = 23 and w,(z,0) = sin(x).

We know that d'Alembert's formula is

x+ct
(o, 1) = %(g(x +et) + gz — o) + %/ h(€)de.

We are given that g(x) = x® and h(zx) = sin(x). Therefore,

x+ct
u(z,t) = %((l‘ +ct)? 4 (x —ct)?) + L / sin(&)d¢

2C —ct
1( +ct) + 1( t)3 ! (cos(z + ct) — cos( 1))
=—(x+c —(z—ct)’ — — x+ct) — x—c
2 2 2c
1
=23 + 3% — 2—(72 sin(z) sin(ct))
c

=23 + 3c*t%2 4 ¢ L sin(z) sin(ct).
(b) ug — gy = 2t, with u(x,0) = 2% and w(z,0) = 1.
By d'Alembert's formula and (19) for the nonhomogeneous wave equation,
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z+ct t z+c(t—s)
1) = glotaret)rae—c)g: [ n@derg [ ([ o G

—ct

We are given that g(z) = x? and h(x) = 1. Therefore,

1 ) ) 1 z+ct 1 t z+c(t—s)
u(x,t):§((x—|—ct) + (z — ct) )—l—%/z df—l_%/o (/z 25d§)ds

—ct —c(t—s)

Lot e+ 2@ —et) + (@ +ct) — (@ — b)) + — /t2 (/HC(H)dg)d
=—(z —(x— —((= —(z— —
5 c 5 c % c c % J, s s s
t
:x2+c2t2+t+/ 2s(t — s)ds
0
3

t
=x2+02t2+t+§.

3.1.2 Solve the initial/boundary value problem:

Upt — Ugy = 0, forO0 <z <mandt >0,
u(z,0) =0,us(z,0) =1, for0<z<m,
u(0,t) = 0,u(m,t) =0, fort>0,

using a Fourier series. Using the parallelogram rule, find the values of the
solution in various regions. Is the resulting solution continuous? Is it in C'?

We first want to find a Fourier series solution. We need to find u(x,t) in the
form

u(z,t) = Z an(t) sin(nzx) + Z by (t) cos(nx).

As the boundary conditions are given as

u(0,t) = u(m,t) =0, for all ¢t > 0,

we know that b, (t) = 0 for every n. Therefore, we can rewrite u(x,t) as
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u(z,t) = Z an (t) sin(nx).

The partial differential equation is given as u — g, = 0. If we substitute u(z,t)
and solve through separation of variables we find that the functions a,, (¢) must
satisfy the ordinary differential equations a’(t) + n%a,(t) = 0. The general
solution to this equation is

an(t) = c, sin(nt) + d,, cos(nt),

where the constants ¢, and d, are determined by the initial conditions. We
have that

oo
u(x,0) = Z dy, sin(nx) = 0,
n=1
ue(z,0) = Z nep sin(nz) = 1.
n=1
We can integrate both of these equations to find

2 ™
dy, = — / Osin(nz)dr = 0, for every n,
T Jo

2 i 2
Cp = — ; 1sin(nx)d.{[) = W(l _ (_1)71), for every n.

Thus, we can rewrite ¢, as

¢(n) poE if n is odd,
= s

0, if n is even,
which is equivalent to

2(1 - COS(THT)).

Cn =
n2m

Hence, the Fourier series solution is
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(i, t) = Z% m sin((2n + 1)¢) sin((2n + 1)a),

or

u(z,t) = 2 Z 1= cos(nm) sin(nz) sin(nt).

T n2
n=1

To find the values of solutions in various regions, we use d'Alembert's formula
and the parallelogram rule to piece together the solution and the domain de-
composition. We apply the same strategy shown in Figure 4.

C3

(PI2, 3PV2) -~ ----L-2-- R2

ﬂ."\ A 2
\/ "
: (5
Plf2, PIf2 ——
( ) AL1 X RL
B8
2 C1 D
¢ c
0 Pl
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In region C1, the solution u is defined by d'Alembert's formula and the solution
is

1 1 x4t
u(z,t) = 5(0+0)+ 5/ 1-dé=t.

r—t

t—x t—=x

In region L1, let A = (x,t) in L1 and thus B = (0,t — x), C = ( 5 3 ),
t t
and D = (z; ’z;— ). Using the parallelogram rule, we find that w(z,t) =
z+t t—=

u(Dc1) —u(Cer) =

= X.

2 2

-t ™= t
In region R1, let A = (x,t) in R1 and thus B = (7r+x Tord

2 ’ 2
3m—x—1 t— t—
(7T ; 7x+2 7T),andD:(w,gc—i_Tﬁ). Using the parallelogram rule,
T—xr+t xT+t-—T

we find that u(x,t) = w(Be1) —u(Ce1) = 5 5 =7 —x.

)702

T+x—t m—x+t

In region C2, let A = (z,t) in C2 and thus B = ( ), C =

2 ’ 2
t t
(g, g), and D = (x—2|— 7m—2|— ). Using the parallelogram rule, we find that
—t t
u(z,t) = u(Bua) + u(Dp) —u(Cor) = oL 4T D mn oy,
3.1.3 Consider the initial/boundary value problem:
U — Ugy = 0, forO0 <z <mandt >0,

u(z,0) = z,ue(2z,0) =0, for0<z<m,
uz(0,t) = 0,uy(m,t) =0, fort>0.

(a) Find a Fourier series solution, and sum the series in regions bounded by
characteristics. Do you think that the solution is unique?

We first want to find a Fourier series solution. We need to find u(x,t) in the
form

u(z,t) = GOT(t) + Z an(t) cos(nzx) + Z by, (t) sin(nx),

where ay,,(t) and b, (t) are determined by the boundary conditions. Hence,
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Z —nay (t) sin(nz) + nby, (t) cos(nx),

= nby(t) =

Therefore, b, (t) = 0 for every n. So, we can rewrite u(zx,t) as

u(z,

t) cos(nx).

The partial differential equation is given as uy — ugz, = 0. If we substitute
u(z,t) and solve through separation of variables we find that the functions
ap(t) and a,(t) must satisfy the ordinary differential equations ag(t) = 0 and

al’(t) + n%a,(t) = 0. The general solution to these equations are

ao(t) = C()(t) + dp,
an(t) = ¢y sin(nt) + d,, cos(nt).

If we differentiate both of these equations we will find that

ay(t) = co,

al, (t) = nc, cos(nt) — nd,, sin(nt).

We can now use our remaining initial conditions to solve for ¢, and d,.

u(z,0) = z we have that

u(z,0)

d oo
Z an(0) cos(nx) ?O + nz::l dy, cos(nz) = z,

and as u:(z,0) = 0 we have that

o !
ug(z,t) = 2 + 7; a,, (t) cos(nx)
a/ oo
u(z, 0 + E a ) cos(nx) 50 + E ney, cos(nx) = 0.

n=1
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Integrating and multiplying by cos(maz) produces

do=m, d,= W(cos(mr) —-1), ¢, =0.

2
Therefore, ag(t) = do = m and a,(t) = d, cos(nt) = — (cos(nm) — 1) cos(nt).
™

Hence,

u(z,t) = GOT(t) + Z an(t) cos(nzx) = g + % Z W cos(kt) cos(kx).
n=1 k=1

3.1.4 Consider the initial boundary value problem:

Upp — gy = 0, for z,t > 0,
u(z,0) = g(z),ut(x,0) = h(z), for x>0,
u(0,t) =0, for t > 0,

where ¢g(0) = 0 = h(0). If we extend g and h as odd functions on —oco < x < 00,
show that d'Alembert's formula (6) gives the solution.

We know that d'Alembert's formula is

x+ct
o) = 3lotat ) +glo—et) + 5 [ h)E

We are given that

u(w.0) = 3(0(e) +9(2) + 5 [ (€ = o)

We can calculate u;(x,t) by the FTC to form
1, ) 1
ug(x,t) = §(cg (x 4+ ct) —cg'(x — ct)) + 2—(ch($ + ct) + ch(z — ct)),
c

1

- (ch(z) + ch(x)) = h(z)

ui(,0) = 3 eg'(x) — cg' (@) +

where
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u(0.0) = 5o(et) +g(-e) + 5 [ n©)de

—ct

As g(z) and h(x) are odd functions we have that g(—ct) = —g(ct). Hence,

w0.0) = 3o(et) +g(-et) + 5 [ hiepie =0,

2¢c J_u

Where we can calculate further derivatives by

g (z,t) = %(c%q”(z +ct)+ Pg(x — ct)) + %(ch/(:c +ct) — ch/(z — ct)),

e, 1) = (o (o ) + (& — ) + o (i + ) — hiar — ct)),

U (7,1) = %(g”(ac Fet)+g"(@—ct) + %(h’(x bet) — Bz — b)),

Thus, usy — c2ugz, = 0 and d'Alembert's formula (6) gives the solution.

3.1.6 Solve the initial/boundary value problem:

Upp — Ugg = 1, forO<z<mandt>0,
u(x,0) = 0,u(x,0) =0, for0 <z <m,
u(0,t) = 0,u(m,t) = —72/2, fort > 0.
Describe the singularities (i.e., is u C?? If not, where does it fail? Is u C'? etc.)

We should first find a particular solution of the nonhomogeneous equation. This
particular solution will reduce the problem to a boundary value problem for the
homogeneous equation (as in 3.1.2 and 3.1.3).

Let's find a particular solution. We will use a method similar to separation of
variables. Assume that
up(z,t) = X ().

Then, substituting into the PDE forms

42



McOwen Chapters 1 -5

-X"z)=1 = X"(z)=-1.
We can integrate twice to find the solution of the PDE. The solution is

2

X(x):—%—i—ax—i—b.

The boundary conditions form

up(0,8) =b=0,

_\2 2
<;> famtb="1 — a=0

up(m,t) = —

Hence, a = b = 0 and the particular solution is

The particular solution solves

Up,, — Up,, = 1, for 0 <z <mandt>0,
up(z,0) = —22/2,up,(2,0) =0, for0<z<m,
up(0,t) = 0,uy(m,t) = —n2/2, fort > 0.

Next, we need to find a solution to the boundary value problem of the homoge-
neous equation

Ugp — Ugg = 0, forO<z<mandt>0,
uw(z,0) = 22/2,u4(z,0) =0, for 0 <z <,
u(0,t) = 0,u(m,t) =0, for t > 0.

We can solve this through separation of variables. In fact, it is identical to 3.1.2
with u(x,0) = 1 replaced by u(z,0) = 2%/2.

Looking back to our solution of 3.1.2, we see that we need to change the initial
condition for ¢, to

2

(o)
ug(z,0) = ;ncn sin(nx) = %,
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which produces

2 T .2 92— 2,2 2 : -9
Cp = — «/L; Sln(n:v)dx = ( n )COS<nﬂ-) :1_ nr Sln(nﬂ-) s for every n.
nm Jo ™

Hence, we can solve the homogeneous equation wuy,(x,t). The solution is

Mg

up(z,t) = n sin(nt) sin(nz)

_ i (2 — 72n?) cos(nm) + 2nmsin(nm) — 2
N — n*

sin(nt) sin(nzx).

We can then find u(z,t). We have that u(z,t) = up(z,t) +u,(x,t) and therefore

o0 .
(2 — 72n?) cos(nm) + 2nmsin(nw) — 2 ) x?
u(x,t) = 5_1 i sin(nt) sin(nz) — =

3.2.2 Find the solution of the initial value problem

Utt = Uga +Uyy + Uzz,
u(:c,y7z,0) = 12 + y27 ut(xayaz70) = 0’

(a) by using (37) and (b) by using (39).

First, we will apply Kirchoff's formula to find the solution. Letting (£,7, ()
denote a point on the unit sphere 52 C R? and dS be the surface area element
on S?2, we see that (as h(z) = 0))

u(z,y,2,t) = i(;/ [(x+t§)2+(y+tn)2]ds>

t
= — ( / [zQ +22tE + 1262 + y? 4+ 2ty + t2772]d5'>
S2

= i[47r(x2+y2)+2xt/ de+2yt/ ndS + t* §2dS+t2/ 77245} .
Bt 4’/T S2 S2 S2 S2

44



McOwen Chapters 1 -5

Although,
&dS =0,
SZ

which can be verified through explicit calculation using spherical coordinates,
or by symmetry (just split S? into the hemispheres £ > 0 and ¢ < 0. You will
find that the two integrals cancel out). By the same reasoning, sz ndS = 0.
Therefore, by the rotational symmetry of the sphere we have that

1 1 4
£2dS :/ n?dS = | (PdS= | ¢€%dS = 7/ (E2+n*+¢H)dS = f/ s = -~
5'2 S2 S2 S2 3 S2 3 S2 3

Hence, we can conclude that

0 8
u(z,y, z,t) = E)t( [477(x +y )—&—tQ;}) = 2% + 9% + 212

For (b), we need to use the 2d formula given in (39). This is possible since
the data are independent of z. Let's denote (£,7) as a point on the unit disk
D ={(&mn): €2 +n* < 1} in the plane. Then (once again, h(x) = 0),

ot (z+t&)* + (y + tn)?
_ 8<t/ x2+y2+2mt§+2ytn+t2(§2+n2)d£dn>
ot\ 2r Jp /T—¢€2 — g2

_ ot / _ d&dn . §d&dn
ot \ 2w 1—&—p2 p /11— —p2
oy [ nddn 52 (& +n*)dédn
D\/l—é“?—n VI=&—n?
So, by symmetry
fdgdn nd§dn

pV1I-€&—np Jp1-e—np
Thus, if we switch to polar coordinates (r,8) in the plane, we see that

45



McOwen Chapters 1 -5

dédn _//2“ rdrdd _zﬂ/ rdr _[tds
py1-8&-n* Jo Jo VI-r? 0o VI—r? 0 Vs 7

and

fmse [ [ [ e e

Hence, we can conclude that

0 4
@, y,2,1) = 8t< [2”(“7 +y)+t2;}>:z2+y2+2t2-

3.2.3 Use Duhamel's principle to find the solution of the nonhomogenuous wave
equation for three space dimensions uy — c?Au = f(z,t) with initial conditions
u(x,0) = 0 = u(x,0). What regularity in f(z,t) is required for the solution u
to be C2.

We are given the nonhomogeneous wave equation with the following initial con-
ditions

uy — Au = f(x,t),
u(z,0) =0 = w(x,0).

By Duhamel's principle, we reduce the problem to the special homogeneous
equations with nonhomogeneous initial conditions

Uy — AU =0, forzeR, t>0,s>0,
U(z,0,s) =0, forzeR, s>0,
Ui(x,0,8) = f(z,s), forxeR, s>0.

Then, we have that
t
u(x,t) = / U(z,t—s,s)ds,
0
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solves the nonhomogeneous wave equation. With three spacial dimensions we
can apply Kirchhoff's formula (with g(z) = 0 and h(z) = f(x)) to see that

10 t t
U(zx,t,s) = o (t /|5|1 Ong) +E /61 f(z+cté, s)dSe = i f(z+cté, s)dSe.

™ l¢]=1

Therefore,

u(x,t):/o U(au‘,t—s,s)dsz/0 (t;Ts ~/|£|=1 f(x—i—c(t—s)f,s)ng)ds

1 t
= E/o /Iél—l(t —8)f(x+ c(t — $)&, s)dSeds.

Hence, we see that f(z,t) needs to be C? in # and C? in ¢ for the solution u to
be C2.

3.2.4 Let Q = {(z,y) e R : 0 <z <aand 0 <y < b}, and use separation of
variables to solve the initial /boundary value problem

Ut = Ugg + Uyy, for (z,y) € Qand t > 0,
u(z,y,t) =0, for (z,y) € 02 and t > 0,
2
u(z,y,0) = sin ™ sin %y’ and w(z,y,0) =0, for (z,y) € Q.
a

Letting u(z,y,t) = X(x)Y (y)T(t), we form
XYT'=X"YT+ XY"T.
If we divide every term by XYT', we get

T//_Xl/+yl/
T X Yy’

which must be equal to some constant A. Therefore,
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T//7X11+YI/ B )\
T X y 7

Then, acknowledging that XTN = —u?, };,” = -2, and TTH = —w?
we see that

are constants,

A= 2+ 07wk

Our initial condition tells us that

2
u(z,y,0) = sin T2 in 219
a

b

So, we know that

u(z,y,0)

2
X(2)Y (y)T(0) = sin % sin %

Hence, we need to find T'(¢). Our initial conditions are

T" +W*T =0,
2
T(0) = sin -~ sin % 7/(0) = 0.
a

Using these alongside the initial condition, u(x,y,t) = 0, we find that

()= o (TP

Therefore, our solution is

2 da® + b?) 3t
u(z,y,z) = X(@)Y(y)T(t) = sin%C sin —2 cos (W).

3.2.5 Find a formula for the solution v(z,t) = v(z1, z2,t) of the Cauchy prob-
lem for the two-dimensional Klein-Gordon equation:
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vy = c2Av —m?v, forx € R? and t > 0,
’U(:U,O) = g(.’t), ’Ut((E,O) = h(x)

Using the hint in the back of the book, we define

u(z,y, z,t) = cos (@z) v(x,y,t).
c

Where we can perform a calculation to see that u satisfies the wave equation in
3d, so it is represented by Kirchhoff's formula. Let’s assume that g = 0. Then,
letting (&,7,¢) denote a point on the unit sphere S? C R?, we see that

t

u(z,y, z,t) = —/ cos (m(z +ct())h(w+ct£,y+ctn)dS(£7n,C).
AT J g2 c

If we let z = 0, then

o(@,3.0) = u(@5.0.0) = 1= [ cos(mtC)h(z +cté.y + ct)dS(€.n.C).

So, we now follow the derivation of the solution formula for the wave equation
in 2d. We will parametrize the hemispheres ¢ > 0 and ¢ < 0 of S? as graphs

(= VT=E P,

over the unit disk D = {(£,7) : €2 +n? < 1}. This will transform the integral
to (observing that the cosine function is even, so there is no difference between
the integrals in the two hemispheres)

ot cos (mt 1-—¢2 —n2)h(x+ctf,y+ctn)
U<x7y7t>_%/D /—1—62—772

If we now remove the restriction that g = 0, we can calculate the general form
as

dédn.

ty/1—62—n? +cté,y +ct
(.1 8<t/DC°s<m 7)ot + ety + ctn)

~ o\ 2r 1—¢2 2
" cos (mt 1-¢£2— nZ)h(x + cté, y + ctn)
-~ dedn.

2 Jp /1—¢2 -2
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3.3.1 Let  be a smooth, bounded domain in R". For a C? solution u(z,t)
of the wave equation uy; = c?Au for z € Q,t > 0, define the energy to be

Eq(t) = 3 [o(ui + ?|Vu|?) dx. If u satisfies either the boundary condition

u(z,t) = 0 or Qu/Ov(z,t) = 0 for x € O, where v is the exterior unit normal,
then show that Eq(t) is constant.

We consider solutions to the wave equation

uy = A, u=u(z,t), zeQ,t>0,

which have a Dirichlet boundary condition

u(z,t) =0, forallz € 0Q,t>0,

or a Neumann boundary condition

Vu-u:%(x,t)zo, for all z € 092,t > 0.

We should assume that u belongs to the space
u € C*(Q x (0,00)) NCHQ x [0, 00)).

We need to show that energy

1
Balt) = 5 [ (0 +19uP) do.

is conserved. If we take the first derivative with respect to ¢, we find that

i _ i 1 2 2 2 _ 2
& Ba(t) = dt<2 /Q(ut + 2|Vl )dx) —/Q(ututt—i—c Vu- V) de.

But, we know from Green’s first identity that

ou

v—dS = / (vAu+ Vv - Vu) dz.
oo OV Q
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Letting v = uy, we see that

/Vu~Vut da::/ ut@de/utAu dx,
Q o0 OV Q

and the middle term vanishes because of the Dirichlet or Neumann boundary
conditions. For the Neumann boundary condition, we have that g—;‘ =0 on 09.
For the Dirichlet boundary condition, we have that « =0 on 92 = u; = 0 on
0f). Hence,

/Vu~Vut dx:—/utAu dx,
Q Q

and therefore

iEQ(t) = / (uguy — ugAu) do = / wy(ugy — *Au) da = 0.
dt Q Q

Thus, energy is conserved.

3.3.2 Use the previous exercise to show uniqueness of the solution for the
(nonhomogenuous) wave equation uy = Au + f(x,t) in a smooth, bounded
domain 2 C R™ with either (a) Dirichlet condition v = g on 9%, or (b) Neumann
condition du/dv = h on ON).

We need to prove uniqueness of solutions to the initial boundary value problem
g — 2 Au = f(x,t), forx € Q, t >0,

u(x,t) = y(z,t), for x € 0, t > 0,
u(z,0) = g(z),ut(x,0) = h(z), forxeQ,

where f,7,g,h are given functions, and u is assumed to belong to the space

u € C%(Q x (0,00)) NCHQ x [0,00)).

Let's assume that u,v both belong this space and solve the initial boundary
value problem defined above. Then, w = u — v also solves the initial boundary
value problem with f =0,v =0, g =0, and h = 0. So, by the previous exercise,
we see that the energy in {2 must be zero for all ¢ > 0 as all of the functions are
zero. Hence,
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Eq(t) = Eq(0) = 0.

Although, as Eq(t) is defined by Fqo(t) = 1 [, (w? + ¢?|Vw|?) dx=0, it must
be that w; = 0 and Vw = 0 in ©Q x [0,00). Therefore, w = constant and this
constant must be zero as w = 0 at time t = 0. So, w =0 = u = v.

An analogous argument holds if we replace the Dirichlect boundary condition
with the Neumann boundary condition.

3.3.4 The partial differential equation uy = c?Au — g(x)u arises in the study
of wave propogation in a nonhomogenuous elastic medium: ¢(z) is nonnegative
and proportional to the coefficient of elasticity at x.

(a) Define an appropriate notion of energy for solutions.
(b) Verify the corresponding energy inequality.
(¢) Use the energy method to prove that solutions are uniquely determined

by their Cauchy data.

(a) The energy integral is

1
B(t) = 5/Q(\ut\z + A |Vul? + q(a)u?)da.

We can verify this by differentiating with respect to ¢ to obtain

d

1 n
%E(t) =3 /Q(ututt +c2 ; Ug, Uz, t + q(x)uny)dzx.

Integrating by parts then produces

d
—E(t) = / ug (uy — Au+ q(z))dz = 0,
dt o

which shows that E(¢) must be a constant.

(b) For any time T € [0,t], let By = {x € R" : |z — 20| < ¢(tg — T)}. Consider
the local energy function

92



McOwen Chapters 1 -5

/ (u? + *|Vul® + q(x)u2)|t=de, for 0 <t <ty. (1)

T

1
Eio,to (T) = )

We claim that (1) is a nonincreasing function of T; that is, the following energy
inequality holds:

Em07t0 (T) < Eﬂo,to (0), for 0 << t(). (2)

To prove (2), we introduce the following notations

Qe ={(z,t) : |z — z0| < c(to —1),0 <t < T},
Cr={(z,t) : |z —xg| = c(to — 1),0 < t < T}

Notice that 9, = C; U (Bo x {0}) U (B¢ x {t}), where the unions are dis-
joint. Moreover, the exterior unit normal v on dQ. is given on B, x {1}
by v = (0,...,0,1), and on By by v = (0,...,0,—1). On C, the normal
V= {(V1,...,Vn,Vnt1) satisies ?(v} + - -+ 4+ v2) = 12 ;; together with the unit

length condition v§ + -+ + 2 + 12, =1, this implies

2
v 1
2 2 n+1
v ++1/ — = .
! "2 1+l

Given a solution u, we define the vector field

V = 2y, , ..., 2P, , —(P|Vul? + u? + q(z)u?)).

If we calculate the divergence in (z,t), we find

. — 2
div V' = 2¢* (g Ugy + UtUgyzy + -+ F Uty Ug,, + UtUs, o))

- 262(um1u$1 + o U, Uy, ) — 22Uty — 2q(x)uuy = 0.

The divergence theorem therefore implies

—

/ V-vdS =0.
90

93



McOwen Chapters 1 -5

Now, on C, the following inequality holds

Vul?

2ug (U, V1 + -0+ U, V) < (U% + q(m)uQ).

c 1
- +7
T V142 cvV1 -+ c?

Therefore, we may compute on C+

Vv =2Ru(ug,v1 + - + g, vn) — (VU2 + u? + q(x)u?)vppr <0,

so in particular

/ 17~1/dS§0.
Cr

Then, we have

OSL ﬁ-uds—i—/i V- vdS

Bo B x{t}

= /7 (A Vul* +u? + q(:c)u2)|t=0dx — L (| Vu|* +ue? + q(x)u2)|t=de,
Bo B

T

which proves (2),

El‘o,to (T) < E$07t0 (0)7 for O <Tt< tQ.

(c) Let both u and v be solutions to usy = ¢?Au— q(z)u on C%(Q x (0,00)) with
initial conditions u(x,0) = g(x), u¢(x,0) = h(x) for x € Q. Let w = u — v, then

wy = Aw — q(x)w, forx € Q,t>0,
w(z,0) = wy(x,0) =0, for z e Q.

Hence, we know that FE(t) = E(0) = 0. It follows that

1
E(t) = 5 /ﬂ(\wt|2 + 02|Vw|2 + q(x)w2)daj =0,

since ¢(x) is nonnegative and the third term implies that w(x,t) = 0. Therefore,
u(z,t) = v(z,t).
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Chapter 4 Solutions

4.1.1 Let Q = {(x,y) e R? : 22 +¢y?> <1} ={(r,0) : 0 < r < 1,0 < 0 < 27},
and use separation of the variables (r, 8) to solve the Dirichlet problem

Au =0, in Q,
u(1,0) = g(#), for 0 <0 < 2m.

It is natural to use polar coordinates (r,6) in which the problem becomes

Pu  10u 1 0%
4= =0, for0< 1,0<0<2
or? i ror = 062 prisrs LS ls

u(1,0) = g(0), for 0 <6 < 2m.

If we write r = e~ " ad u(r,0) = X ()Y (6), then

r20%u + rOpu + Oju = 0Zu + dju = X" ()Y (0) + X (1)Y"(9) = 0.
Separating the variables, we obtain

X”(t) _Y//(e)

Xt Y0 =

But Y”(0) + AY () = 0 has solutions \,, = n? and Y,,(#) = a,, cosnf +b,, sin nb;
notice Yp(0) = ag =const. The equation X”(t) + n2X(t) = 0 has solutions

Xo(t) = cot + do and X,,(t) = cpe™ + dpe™™ for n = 1,2,3,... . This means
that ug(r, 0) = —co log r+dg and u, (r,0) = (a, cos nd+b, sinnb) (c,r~"+d,r")
for n =1,2,3,... . But v must be finite at r = 0, so ¢, = 0. By superposition

we may write (after relabeling coefficients)

u(r,0) = ag + Z r"(ay, cosnd + by, sinnfh).

n=1

But then

u(1,0) = ag + Z(an cosnb + by, sinnf) = g(0),

n=1

99



McOwen Chapters 1 -5

which shows that the coefficients a,,b, for n > 1 are determined from the
Fourier series for g(6). Therefore,

2m
ap = l/ g(0) cos(nh)dd  forn=1,2,3...,
T Jo
1 2m
b, = f/ g(0)sin(nd)dd  forn=1,2,3....
™ Jo

Notice, however that ag is not determined by g(#) and therefore may take any
arbitrary value. Moreover, the constant term in the Fourier series for g(6) must
be zero. So, we can write

1 27

ag g(0)do.

:% ;

4.1.2 Let Q = (0,7) x (0,7), and use separation of variables to solve the mixed
boundary value problem

Au =0, in Q,
uz(0,y) = 0 = ug(7,y), for0 <y <m,
u(z,0) =0, u(z,m)=g(x), for0<x<m.

Assume u(z,y) = X (2)Y (y). Substitution into the PDE produces

X"(@)Y (y) + X(2)Y"(y) = 0.
Separating the variables, we obtain

X'w) _ _Y'(y)

X@) Y o

For the first equation, consider X" (z) + AX (z) = 0. If A =0, then X" (z) =0
and we can simplify this to find Xo(x) = agz + bo.

Else, if A # 0 then we need to solve X" (x) + AX(z) = 0. By standard ODE
techniques, we find that the roots of the characteristic polynomial are r = +i\.
Therefore, we see that X, (z) = a, cosnx + b, sin nx.

The boundary conditions are u,(0,y) = 0 = ug(m,y). So,
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uz(0,y) = X'(0)Y(y) =0 = X'(0) =0,
ug(my) =X'(m)Y(y) =0 = X'(7)=0.

Hence, X((0) = ap = 0 and X/, (0) = nb, = 0 = b,, = 0. Thus, Xo(z) = b
and X, (z) = a, cosnx.

If we return back to our original equation X" (z)+ AX (z) = 0, we can substitute

in the above form to find that —n2a,, cos na + Aa, cosnz = 0. This implies that

A=n? forn=1,23,....

So, we now consider Y (y) — AY (y) =0 or Y"(y) — n?Y (y) = 0. If n = 0, then
we have Y (y) = 0 and we can simplify this to find Y5(y) = coy + do.

Else, if n # 0 then we need to solve Y (y) — n?Y (y) = 0. By standard ODE
techniques, we find that the roots of the characteristic polynomial are r = +n.

Therefore, we see that Y,,(y) = cp,e™ + dpe ™.

The boundary condition is u(z,0) = 0. So,

u(z,0) =0=X(2)Y(0) =0 = Y(0)=0.

Hence, Y5(0) = dgp = 0 and Y,(0) = ¢, +d, = 0 = ¢, = —d,. Thus,
Yo(y) = coy and Y, (y) = cp(e™V — e™™) = ¢, sinhny.

If we put everything together, we form

uo(z,y) = Xo(2)Yo(y) = bocoy = aoy,
un(z,y) = Xpn(2)Y,(y) = (an cos nz)(¢, sinhny) = a, cos nx sinh ny.
So, by superposition, we can write
o0
u(z,y) = apy + Z a,, cos nx sinh ny.
n=1

The above equation satisfies the three homogeneous boundary conditions. For
the non-homogeneous boundary condition, we have that u(z,7) = g(x). So,
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(oo}
u(x, T) = apm + Z a,, cosnx sinhnt = g(x).

n=1

By the orthogonality conditions of coefficients, we have that

o

™ s _ N . _ " 1 s
/0 g(x)dr = /0 (a07T+Z ay, cos nx sinh n)dr = @y = ap = ﬁ/o g(z)dz,
n=1
™ e ™
. T
/ g(x) cosmx dr = Z G, sinh mr/ cosnx cosme dr = 50m sinh m,
0 1 0

which implies that

— 2 (7
ap sinhnr = — / g(x) cosnz dz.
T Jo

4.1.3 Prove that the solution of the Robin or third boundary value problem
(5) for the Laplace equation is unique when « > 0 is a constant.

We have that

Au =0, in Q,
%—Fauzﬂ, on 0F),

where a, f are constants with a > 0. We need to prove uniqueness. Assume
that

u,v € C*(Q)NCHQ),

are both solutions to the Laplace equation. Let w = uw — v. Then, w satisfies

Aw =0, in Q,
%’—i—aw:O, on 0f).

If we apply Green’s first identity with u,v = w, we find that
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/ wa—wdS:/Vw-Vw dx:/ |Vw|?dz.
oo Ov Q Q

ow
If we now insert the boundary conditions, i —aw on N, we find that
v

fa/ w2dS:/ \Vw|?dz.
E19) Q

Therefore, in the formula above the LHS is always < 0 while the RHS is always
> 0. So, both sides must equal zero. Hence, w = 0 in 2. As we assumed that
w is continuous on the boundary, we also have that w = 0 in 2. Thus, u=v.

4.1.4 Let Q be the unit disk as in Exercise 1.

(a) Solve the Robin problem (5) for the Laplace equation when o > 0 is
constant.

We are given that the solution by separation of variables on the unit disk is

u(r,0) = ap + Z r"(an cosnd + by, sinnb),
n=1

where the normal derivative on the boundary can be represented as

ur(1,0) = Z n(ay cosn + by, sinnd).
n=1

So, we need to consider the new boundary condition of

du

+ au = 5, on 0f).
ov

Through this new boundary condition, we can write the equation above as

B(0) = aap + Z(a +n)(an cosné + by, sinnf).

n=1
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Therefore, through the above representation we can find the Fourier coefficients
as

aay = %/ﬂ B(0)d) = ap = a—lﬂ_/w B(0)do,

—T

1 g 1 T

(a+n)a, = o B(0) cos(nb)dfd = a, = et ) B(0) cos(nb)db,
1 4 1 &

(e +n)b, = o/ B(0)sin(nf)dfd = b, = et ) B(0) sin(nd)db.

As a > 0, it is clear that all of the Fourier coefficients for ag, a,, and b, are
well defined. They are all determined uniquely and produce a unique solution.

(b) When a = —1, show that uniqueness fails.
Consider
u(r,0) = r(asin() + bcos(h)),
with the boundary condition

du

+ au = 5, on 0N).
v

The normal derivative on the boundary is
ur(1,0) = (asin() + bcos(H)).

So, the boundary condition becomes ? —u = 0. For u(r,8) = r(asin(0)
v
+bcos(f)), we have that

Au =0, in Q,
%—uzO, on 0f).
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Therefore, we can no longer apply the same strategy used in (a). As a and
b are arbitrary, there are many different values of a and b which satisfy both
conditions. Hence, uniqueness fails.

4.1.5 Suppose ¢(x) > 0 for z €  and consider solutions u € C?(2) N C*(Q)
of Au —g(z)u = 0 in Q. Establish uniqueness theorems for (a) the Dirichlet
problem, and (b) the Neumann problem.

Let’s consider

Au — q(z)u =0, in Q,

where g(z) > 0 is assumed to be bounded and continuous in Q. If we also
assume that ¢(z) is not everywhere 0, then there exists a point xg € € such
that

q(xo) > 0.

We need to prove uniqueness of solutions in the space

C*(Q)n (D),

subject to the two boundary conditions

u=g, on 0},
ou

o h, on 01},

where the Neumann boundary condition isn’t unique if ¢ = 0. So, we assume
that ¢(z) is not everywhere zero.

Next, assume that u,v are two solutions such that u,v € C?(Q) N C*(Q). Let
w = u—v. Then, w = u—wv satisfies the original equation with the new boundary
conditions

w =0, on 0f),

65%) =0, on 0.

In either case, we have that
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/ wa—wdS =0.
)

Q 6V

So, if we apply Green’s first identity with u,v = w and Aw = wq(z) we form

O:/ wa—wdS:/qu(gc)-i-|Vw|2 dx.
oo Ov Q

But, the integrand on the RHS is continuous and > 0, so we must have that
w?q(z) + |[Vw|? = 0 in Q. This means that

|Vw|2 =0 = Vw=0 = w = constant = ¢, in Q,

w?q(r) =0 = at x =m0, ¢(v9) >0 = w=0, inQ.

Therefore, as w = 0 and w = constant = cin @ = c¢=0 = w=0
in Q. By continuity, we can also extend this to 2. Hence, u = v and we have
established uniqueness for the Dirichlet and Neumann problem.

4.1.6 By direct calculation, show that v(x) = |z — 20|>~" is harmonic in R" \
{zo} for n > 3. Do the same for v(z) = log |x — x| if n = 2.

Assume n > 3, fix a € R”, and set v(z) = |z — a|?>~" for = # a.

Then, v(z) = r>~" where

r=lz—al= V(@1 —a.)? + (ra — a2)2 + - + (xp — an)2.

Therefore,
- 2(x; — a;) _Ti—a
o 2¢/(z1—ag)? + (12 —a2)2 + -+ + (zy, — an)? T
Hence, by the chain rule,
Vg, = (2 =) Ty, = (2 — n)rl_"u =(2—=n)r "(z; —a;),
r

and
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Thus,

Av = Z Vpz, = (—0)(2 = n)r " 22 (2 —n)r "
i=1

=(n*—=2n)r "4 (—n?+2n)r "
=0.

Next, consider n = 2, fix a € R?, and set v(z) = log |z — a| for z # a. Then,
v(x) = log(r) where

r=lz—al=/(r1 —a1)®+ (v2 — az)*.

Therefore,

B 2(z; — ay) xi—a
Tz, = ) 5 .
2/(z1 — a1)? + (2 — ag) T
So, by the chain rule,
1 T;—a _
Vg, = — Ty, = Zrz b= (x5 —a;)r2,

and
Vgo, =T 2 — 2(x; — ag)r 31y,
1 2(x; — a;) (zi — a;)
T2 r3 r
1 2(x; — a;)?
T2 rd
Thus,
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2
1 2r2

r T
=1
22
R
=0.

4.1.7

(a) If Q is a bounded domain and u € C?(2) N C(Q) satisfies (1), then

maxg [u| = maxpq |u.

Assume that u € C%(Q) N C(Q2) and that Au =0 in Q. We need to show that
max|u| = max|u|.
o0

Observe that this is the same as the standard weak maximum principle where
u is replaced by |u|. Assume that € is bounded. We first need to show that

max|u| > max]ul.
Q aQ
But, this is obvious since Q contains 9. So, we need to show that
max|u| < max]ul.
Q aQ

As |u] is continuous and 2 is a compact set, we know that |u| must obtain a
maximum. Therefore, 3 21 €  such that

Ju(1)| = maxul.
Q

WLOG, we may assume that u(z1) > 0 (otherwise, if u(x;) < 0, then we could
replace u by -u). Thus,

u(ry) = max|ul.
9
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As u(z1) > 0, this implies that maxg u = maxg |u|. We know from the standard
weak maximum principle that

max U = max u.
a a9

Therefore, we see that

max|u| = u(z1) = max v = max u < max|u|.
o o 1) Iy

Thus, max|u| < r%?lx\u| and we have that maxg |u| = maxaq |ul.
Q

D) If Q= {x e R": |z > 1} and u € C?(Q) N C(Q) satisfies (1) and

lim| 4| o0 u(x) = 0, then maxg [u| = maxapq |ul.

Assume that u € C?(Q) N C(Q), Au = 0 in Q, and lim |, u(z) = 0. Also
assume that

Q={zeR":|z| > 1},

which is an unbounded set. We need to show that
max|u| = max]ul.
Q o0

Similar to (a), it is obvious that maxg |u| > maxpq [u|. So, we need to prove
that

max|u| < max|ul.
Q E19)
To do this, let’s split up the set into Q2 = {xr € R* : |z| = 1} and Q = {z €
R™: |z| > 1}.
For 00 = {& € R™ : |x| = 1}, it is clear that the maximum is obtained.
This set is compact, so we can repeat the argument used in part (a). For

Q = {z € R* : |z| > 1}, we need to do something different. This set is
unbounded, so we will need a different approach of attack.
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On Q = {z € R" : |z| > 1}, assume that u is not everywhere zero. If u was
everywhere zero, then we would have nothing to prove. Let

M := supl|u| > 0.
Q
As lim ;|00 u(x) = 0, there must exist a R > 0 such that
M
f2R = ju(@) < 2.

Define

Br :={z:1<|z| < R}.

Then, Bp is compact. So, the maximum of |u] is obtained. Therefore, 321 € By
such that |u(z1)| = maxp, |u|. But, as |z| > R = |u(z)| < &, we see that

M = max|ul.
Qr
Thus, the sup of |u| over Q is the maximum. Hence,
|u(z1)| = max|u| = max|u|.
Br re)
Analogous to part (a), we may assume that WLOG wu(z1) > 0. Then,
u(x1) = max|u| = max|ul.
Bpr Q
So, from from the standard weak maximum principle in Bg, we know that
max « = max u,
Br I

which allows to conclude that

max|u| = u(z1) = max v = max u < max|u|.
Q Br 0 a0
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Thus, max|u| < n%%x\u| and we have that maxg |u| = maxaq |ul.
9)

4.2.1

(a) If n =2 and a = 1, show that (44) is equivalent to

u(r,0) =

| 9(¢)do
27 /0 1472 —2rcos(0 — @)

The Poisson integral formula is given by

o e o)
(©) /| ..

awn, z|=a |l‘ - §|n

Replacing n = 2 and a = 1, we have that w, = 27 and thus

ey = L1’ 9@) g
(©) /| .

2 Jjp= o =€

But, this is the same as integrating over a circle of radius 1. Therefore,

1= T g(9)

where we set £ = (rcos,rsinf) and x = (cos ¢, sin @) to form

|z — €2 = |(r cos @ — cos ¢, rsin @ — sin ¢)|?
=12 cos® 0 — 2r cos 0 cos ¢ + cos® ¢ + r? sin® 6 — 2r sin O sin ¢ + sin? ¢
72 (cos? 0 + sin? ) + (cos® ¢ + sin? ¢) — 27(cos § cos ¢ + sin O sin p)

=7r% 41— 2r(cos(d — ¢)).

Therefore,

e g
u(§) = o /0 1472 —2rcos(d — @)
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(b) Use (a) and Exercise 1 in Section 4.1 to verify the formula

r* cos k6 =

1—r2 /2” cos(k¢)de
2 Jo 14712 —2rcos(d —¢)’

where k is an integer and 0 < r < 1.

We have that g(0) is the boundary condition of the PDE. So, we want to find a
function wu(r, @) solving

Au =0, in Q,
{ (*)

u(1,0) = g(9), for 0 <0 < 2.

The function u given by the Poisson formula is the unique solution to the prob-
lem, so if we have any function solving (x), then that function must be equal to
the Poisson integral.

In particular, from Exercise 1 in Section 4.1 we have that

0%u  10u 1 0%u
2o T f < 1.0<0 <2
8r2+7’8r+7’2802 0, for0sr<1,0<6<2m

u(1,0) = g(0) = cos(kf), for 0 <6 < 2.

Substituting u(r,6) = r* cos(k6), we see that it satisfies both of the hypothesis
as

1 1
uTT—i—;uT—l—T—zu.gg = (k?—k)r*=2 cos(k6)+(k)r* =2 cos (k) — (k*)rF =2 cos (k) = 0,
and

u(1,6) = 1% cos(k@) = cos(kb) = g(h).

So the function u(r,8) = ¥ cos(kf) solves (*) with g(f) = cos(kf). But, since
the solution is unique, this means that

1_p2 [27 cos(ko)
k _
r* cos(kf) = o /0 1472 —2rcos(f — ¢) a0
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4.2.2 Let Q be a bounded domain and f € CF(Q). Show that in fact the
domain potential (29a) satisfies u € C**1(Q2). Conclude that f € C°°(Q) implies
u € C®(Q).

Assume that Q is a bounded domain and f € C*(Q). The domain potential is
given by

u() = / K(x — ) (y)dy.

where u defines a solution to Poisson's equation Au = f. As f is an integrable
function on the bounded domain €2, we know from (56) in Section 2.3 that u is
at least a distributed solution of Au = f in R™ (extend f by zero outside Q).

Therefore, we have satisfied the conditions of the proposition on page 114 as
Q is bounded and f € L'(Q). This shows that the domain potential (29a)
satisfies u € C*+1(Q) as part (i) of the proposition guarantees that u is C* and
harmonic in R™ \ €.

Next, assume that f € C°°(Q). We will need to generalize the proof of part (iii)
of the proposition to show that u € C*°(Q).

Observe that if f € C°°(Q), then the same proof will hold (all that will need
to be changed is the number of derivatives taken). We can assume that f €
C*(Q). Then, we can argue analogously through the divergence theorem to get
an equivalent form of (29d) for k derivatives. This shows that u € C*+1((Q).

Stronger results follow from the notion of Holder continuity which allows one
to weaken substantially the hypothesis f € C'(Q) (cf. Section 6.5), and the

conclusion u € C?(Q) may be obtained for sufficiently smooth domains (cf.
Section 8.2).

4.2.3 The symmetry of Green's function [i.e., G(x,&) = G(§,z) for all z, £ € Q)]
is an important fact connected with the self-adjointness of A.

(a) Verify t(he symmetry of G(z,§) by direct calculation when Q = R’} and
0 = B,(0).

First, we know that |z —§| = |{ — x| and |z — | = |€* —2|. In @ = R"}, we can
directly calculate

G,§) =Kz —§ - K@ —-¢§) =K —z) - K( —2) =G( 7).
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For Q = B,(0), we have that

T — Il — ifn=
G(m:{fa §) = s log (Glo =€), ifn=2,

K(x—-¢) — (%)” 2K.Z‘—€), ifn>2,

and

(€ —a) = ()" ?K(E —=), ifn>2

- 1€l ex _ o
Gm):{f;(s )~ g log (i —af), ifn=2
€]

which are equivalent as K (z) is radially symmetric as discussed in the beginning
of section 4.2.

(b) Prove the symmetry of G(z,£) when §2 is any smooth, bounded domain.

We need to show that G(z, &) = G(&, x) for all z, £ € ) where x # £. Pick € > 0
such that B(x), B(§) C Q and Be(z) N B(§) = 0.

Then, apply the second green formula (7) to the domain Q. = Q\(B.(x)UB(&))
where u(z) = G(z,z) and v(z) = G(z,£). This forms

0= /Q | (G(=.AG(z.2) — Gz, 2)AG(=.6) ) d
where
G(%,8)AG(z,x) — G(z,2)AG(z, &) = 0.

This reduces to

G(x,8) = G(&,x),

by observing that G(z, &) AG(z,x) = G(2,£)0(z—x) = G(x, ) and G(z,2)AG(2,£) =

G(z,z)0(z — &) = G(&, ).

4.2.4
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(a) Use the weak maximum principle (16) to prove that G(z, &) < 0 for z, & €
Q with « # &.

We need to prove that G(x, &) < 0 for z,£ € Q with x # £. Fix z € Q. We have
that

G(x,8) = K(z = &) + wa(§),

where w,(£) must satisfy

Acwy =0, in Q,
wy(§) = —K(x—¢), for e .

So, &€ — G(x,£) is harmonic for £ € Q, z # £ with
G(z,£) =0 for £ € 00.

As w, is a bounded function and K(z — §) — —o0 as £ — x, we see that there
must exist some 7 > 0 such that B,(z) C  and

G(z,&) <0 for ¢ € B,.(x) where £ # x.

Therefore, in the set Q' = Q\ B,(x), the function £ — G(x, &) is harmonic with
boundary values < 0 since

G(z,§) =0 for £ €09,

G(z,£) <0 for ¢ € B,(x) where £ # x.

Thus, by the weak maximum principle, G(z,&) < 0 for £ € Q' which includes
all £ € Q where £ # x.

(b) Use the strong maximum principle (15) to prove that G(x,&) < 0 for
xz, & € Q with x # &.

We have already shown that

G(x,) =0 for £ € 09,
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G(z,6) <0 for ¢ € B,(x) where £ # z.

So, £ — G(z,&) is not constant in Q'. Thus, the strong maximum principle
assures that we have no interior maximum point. That is, G(z,£) < 0 for all
& € Q' which includes all £ € Q where £ # x.

4.2.7 If u € C(2) satisfies the mean property of Section 4.1.d, then u is har-
monic in €.

Assume u € C(2) and satisfies the mean value property:

u(€) = 1/||_1u(§+7'x)d51, if B, (€) € Q.

Wn

We need to show that u € C?(Q) and Au = 0.

Fix a ball B,.(§) such that B,.(§) C . Using Poisson's formula on this ball,
with boundary values u|yp, (¢), we can apply Theorem 4 on page 122 to find

a harmonic function v € C%(B,.(£¢)) N C(B,(£)) such that v(z) = u(z) for z €
0B, (£).

We will now show that v = v in B,(§). To see this, note that u — v satisfies the
mean value property (as both u and v do). Therefore, the maximum principle
holds (as the proof of Theorem 3 on page 109 works for any continuous function
satisfying the mean value property) for u — v on B,.(§), so we get v —v < 0 in
B,(£). Applying the maximum principle again to v — u produces v — u < 0 in
B, (&), and we conclude that u —v =0 in B,(§). Hence, u = v in B,.(§).

Theorem 4 guarantees that v is harmonic. As we have shown that v = v in
B,.(£), we see that u is harmonic in .

4.2.10 Suppose u € C%(Q) is harmonic, u > 0, and B, (0) C Q.

(a) Use (44) to show

a"*(a — |¢])

(atlener " i

gy @ for K=<

The Poisson integral formula is given by
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ey = L IEP 9(z) g
(©) /| ..

awn, z|=a |:Zj - §|n

where g denotes the the value at the boundary of the sphere. As u is harmonic
and B,(0) C Q, we see by Theorem 4 that the function g is the same as the
function u on the boundary.

By the triangle inequality, we have that

[z =& = || = ¢].

So, we know that

o =& = fa] = |E]" = (Jo] = €)™ = (a — €)™

Therefore, substituting u = ¢g at the boundary,

/m—a FEa s o P /ﬂ-a (z)dSs.

In class we showed that

/ dS, = a" lw,.
|z|=a

So, recalling that the Gauss Mean Value Theorem states that the value at the
center of the sphere is equal to the average of the sphere, we see that

/ u(z)dS, = a" *w,u(0),
|z|=a
which implies that

a—¢? a"lw,

~a"?(a+€])
aw, (a— |§\)"u(0) B

u(§) < Ta—lent

u(0).

To get the second inequality, we apply the second form of the triangle inequality
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|z —&| <[z +[£],

to form

o = &|" < 2" +1E]" < (2] + [€)" = (a + [E])".

Proceeding in the same manner as before with © = g at the boundary,

T I e e T R

where

/ u(z)dS, = a" *w,u(0),
|z|=a
implies that

),
O = O

(b) Prove (45).

I will prove an equivalent form of Harnack's Inequality.

Theorem 1. Suppose that Ba,(0) is an open ball in R™. There is a constant C
depending only on the dimension n such that

supu < C inf wu,
B,(0) B.(0)

for all functions u that are non-negative and harmonic on Ba,.(0).

Proof. Choose z,y € B,-(0). We need to show that u(z) < Cu(y). Let d < 2r
be the distance between = and y, and pick w and z one and two thirds of the
way from x to y. We are given that u is positive and harmonic on B,.(x) and
that B, 3(w) C B(x). So, we can use the mean value property to see that
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_ 1

u(w) = vol B, /3(w) /BTB(UJ) Y
— 3”
~ vol B,.(x) /BT/B(U)) b

3" /
< — U
~ vol B,«(Z) B, (z)
< 3"u(x).

Analogously, if we compare w, z and z,y, we get

Combining all of these distances we have

u(e) < 3% u(y),

where C' = 33" as needed. ]

4.2.11 Use (46) to prove Liouville's theorem.

We need to prove Liouville's theorem which states that if w € C?(R") is har-
monic and bounded, then w is constant.

Equation (46) on page 122 states that

|Vu(zg)| < max |u(z)]|.

n
a r€0B,(x0)

But, since we know that u is bounded, we can let C' = n< max u(x)|) to
IEaBa(ﬂo)

form

)

2|Q

[Vu(xo)| <

for every xg € R™ and all @ > 0. As C'is independent of zy and a, we let a — oo.
Then, Vu = 0 for every zo € R™. So, u must be a constant.
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4.3.1 Show that if u € C?(f2) is subharmonic then Au > 0 in Q.

First, let’s define u € C?(Q) as subharmonic if it satisfies

for all xy € Q where r > 0 and B,(zg) C .

We will argue by contradiction. Assume that there is an xg € Q such that
Au(zg) < 0. For concreteness, assume that Au(zg) = —6 < 0.

As u € C?(R), there exists a 75 < dist(zg, 92) such that

[Au(eo) - Auly)| < 5.

for all y where |xg — y| < 7s5. In particular, Au(y) < —0/2 in By, (xo).

So, let’s define ¥(r) according to

1
L p— / w(y)dAo5, (o0 (4).
OB, (z0)

 wyprnt
Then, for r < rs, we have that

1 1 1)
W (r)=— Au(rz + xg)dz < —— r?=dz < 0.
Wn J B, (0) Wn J B, (0) 2

As u € C?*(Q), we have that lim, o+ ¥(r) = u(zo). Thus, by the above equa-
tion, we see that U(r) < u(xg) for r € (0,75). This is a direct contradiction to
the subharmonic property

1

< -
u(xo) — wnr”*

/ w(y)d Aoz, o) (4),
OB, (z0)

for all xg € Q where r > 0 and B,(zg) C .

4.4.2 Let Q = (0,a) x (0,b) x (0,¢) C R®. Find the Dirichlet eigenvalues and
eigenfunctions for A in .
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Following (62) we first write

Ugy + Uyy + Uz, +Au =0, in Q,

u(z,0) =0 = u(z,b), for 0 <z < a,
u(0,y) =0 =u(a,y), for 0 <y <0,
u(0,2) =0 = u(c, 2), for 0 <z <e.

Then, letting u(z,y, z) = X (2)Y (y)Z(z), we form

X'YZ+XY"Z+XYZ"+AXYZ =0.

If we divide every term by XY Z and move A to the RHS, we get

X// Y// Z//
— t—+ — ==\
X + Y + Z
Then, acknowledging that X7” = —u2, };,” = —12 and 27” = —w? are constants,
we see that
A= 2+ 07 4wk
So, we first need to solve
X// + M2X — O,
X(0) = 0 = X(a),
which produces i, = M7 and X (x) = sin 7L for m = 1,2,... . Similarly,
a
Y" +12Y =0,
Y(0)=0=Y (),
produces v, = n% and Y,,(y) = sin n%bry forn=1,2,... . Lastly,
Z" +w?Z =0,
2(0) =0 = Z(c),
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k k
produces wy = T and Zk(z) = sin 2 for k = 1,2,... . Therefore,
c c

2 2 2
o (m n k
AWLnk =TT ( a2 + bz’ + C2> s

and

mrx . nwy . knz

u(z,y,z) = X ()Y (y)Z(z) = sin

4.4.3 Consider the initial/boundary value problem with forcing term

up = Au+ f(z,t), forx € Qand t > 0,
u(xz,0) = 0,us(x,0) =0, forz e,
u(z,t) =0, for z € 9Q and t > 0.

Use Duhamel's principle and an expansion of f in eigenfunctions to obtain a
(formal) solution.

Method 1: First, by Duhamel's principle, we can rewrite the system of equa-
tions above as

Uy — AU =0, for x € Qand t > 0,
U(z,0,s) =0, for z € Q,
U(x,t,s) =0, for x € 9Q and t > 0,

Ui(x,0,8) = f(z,s), forxeQ.

We will solve the problem through eigenfunctions of the A operator. By review-
ing (74), we see that

g(z) =0,

h(x) = f(l‘, S) = Z bn(s)¢n(x)
Let
Uz, t) =Y Un(t)dn().
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Then,

U () on(x) + AUp(t)dn(z) =0 = U, (t) + A\Upn(t) = 0 for every n.

By (77), we know that the solution to (74) is given by
= (An c0s v/Ant + By sin \/)\nt) On(z)
n=1

where

U,(t) = (An cos \/Ant + By sin \/Et>

At ¢ = 0 we obtain U, (0) = A,, and U},(0) = B,/ A,. Therefore,

glz) =0 = A, =0,
by

U,(0) = Byv/An = by, = B, = ——.
n(0) oW

So, our solution is

U(z,t,s) i (Bn sin \/Et) On(x Z sm \ﬁt Yo (T

and we can therefore solve u(x,t) through Duhamel's principle

u(z,t) /Uxt—ssds-Z% / )sm(\/x(t—s))ds.

Method 2: We expand v in terms of the Dirichlet eigenfunctions of Laplacian
in Q.

Ad)n + /\n¢n =0 in Q, ¢n =0 on 0N.
Assume

79



McOwen Chapters 1 -5

u(@,t) =Y an(t)on(), an(t) = | ul@)u(e,t) de,
n=1
flat) =" falt)on(x), fult) = | Gul@)f(a,1) da

Then,

ag(t) = Gn(T)usy do
Q

:/(bn(Au—Ff) dx
Q

:/QanAud:c—i-/qunf dz
:/Agbnuder/qbnf dz
= /¢nudx+/¢nfdx

-A an( ) + fn

We also have that

:/¢A@M%®dxza
Q

1(0) = /qun(m)ut(x,O) dr =0,

where we used Green's formula. Thus, we have an ODE which is converted and

solved by Duhamel's principle:

a% + Aty = fn(t)a
a,(0) =0,
al(0) =0,

which implies that

@ + Anin =0,
an(0,5) = 0,
ap,(0,8) = fu(s),
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or

an(t) = /Ot Gn(t— s, 5) ds.

With the anzatz a,(t,s) = c1cosvAut + casiny/Aut, we get ¢ = 0,c0 =
fn(8)/V/An, or

siny/Apt

an(t,s) = fu(s) oW

Duhamel's principle gives

an(t)Z/o an(t — s,8) ds:/o fn(s):m\/g_s))ds,

where

/ Fa(s) sin(v/An(t — s))ds.

4.4.4 Suppose the forcing term in the previous exercise is f(xz,t) = A(x) sinwt.
Find the (formal) solution when (a) w? # A, for any of the eigenvalues \,,, and
(b) w? = Ay, for some k (resonance).

From the previous problem, we found that

u(z,t) = /t U(z,t —s,s)ds = i oulr) [* fn(s)sin (\/E(t - s))ds
0
If we let f(z,t) = A(x) sinwt, then we have

t

u(x,t) = /Ot U(x,t Z anj/ﬁ% sin(ws) sin (m(t - s))ds,

0

where by reducing a trigonometric identity we find that
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/75 sin(ws) sin (\/x(t — s))ds = sin(vant) - \/Esin(wt).
0

w? — N\,
Therefore,
. a, wsin(vAnt) — VA, sin(wt
ant) = Y bR VRl ),
n=1 n w n
with

0 = /Q A(2) b () da

For (a), if w? # )\, for any of the eigenvalues \,, then the solution is defined
for all eigenvalues as the denominator isn’t zero. For (b), if w? = \; for some
k, then the solution is undefined at all the eigenvalues where w? = \j.

4.4.5 Let Q= (0,a) x (0,b) and consider the initial/boundary value problem

uyy = Au, forz € Qandt >0,
u(xz,0) = g(x),ut(x,0) = h(z), forz e,
%(x,t)zO, for z € 9Q and t > 0.

(a) Find the eigenvalues and eigenfunctions for the associated Neumann prob-
lem on €.

Letting u(z,y) = X (2)Y (y), we form

X"Y + XY" + AXY =0.

If we divide every term by XY and move A to the RHS, we get

X// Y//
—+==-X
X Y
Then, acknowledging that XTN = —p? and YTN = —1? are constants, we see that
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A= pu?+ 2
So, we first need to solve
{X” + 42X =0,
X'(0) =0=X'(a),
which produces ., = ? and X, (z) = cos m;rx for m =1,2,... . Similarly,
{Y” +12Y =0,
Y'(0) =0=Y"(b),
produces v, = % and Y, (y) = cos n—zy forn=1,2,... . Therefore,
A = 702 (Zi-i—gj),
and
mrr  nwy

u(z,y) = X(2)Y (y) = cos

COS —.

b

(b) Find the solution as an expansion similar to (77).

The only difference between the Neumann problem and (74) is that the eigen-
functions are now represented with cos instead of sin. So, we can argue analo-
gously as in the application of the wave equation to derive (77) as

u(z,t) = i (An cos \/Ant + By sin \/xt) On ().

n=1

Chapter 5 Solutions

5.1.1 A square two-dimensional plate of side length a is heated to a uniform
temperature Uy > 0. Then at t = 0 all sides are reduced to zero temperature.
Describe the heat diffusion u(z,y,t).

83



McOwen Chapters 1 -5

We are given Dirichlet boundary conditions. Therefore, the eigenfunctions of
the Laplacian are

oOri(z,y) = sin (?) sin (hriy)’

a

2
T
Akl = 7(14:2 + 12).
a
Therefore, by (5), the solution to the heat equation is

U(.’I}, Y, t) = Z Ak,le_)\kltd)kl (37, y)
k,l
Where we need to find Aj; by our initial conditions. At ¢ = 0, we have that
Up = Axidu(z,y).

k,l

Thus, we can therefore analyze the eigenfunctions. We are given that the eigen-

functions are ¢y (z,y) = sin (’””’) sin (l”y). As these are separate, it is natural

Ta “a
to assume that the coefficients are separate. Hence, let’s assume Aj; = B;C).
Then,

Uy = ;Ak,l¢kl(I,y) = Zk:Bk sin (%) ZI: C; sin (%)

By applying Fourier series, we see that

4
By, = \/Uoki‘, k is odd,
i

C = \/Uo4—a, 1 is odd.

I

Hence,

- 16&2[]0

Apy = BpCy = Iz k,l is odd.

)
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5.1.4 More generally than in Exercise 2, describe how you would solve the
initial boundary value problem (3) with the homogenuous Dirichlet condition
replaced by u(x,t) = h(z,t) for x € 0Q and ¢t > 0.

We have that (3) is defined as

uy = Au, forx € Qand t > 0,
u(z,0) = g(x), forz e,
u(z,t) = h(x,t), for z € IQ and t > 0.

As this equation is linear, we can solve this problem by solving the following
two problems

v = Av, for z € Qand t > 0,
v(z,0) = g(z) —w(x), forz e Q,
v(x,t) =0, for x € 9N and t > 0,
Aw =0, for z € Q,
w(z,t) = h(z,t), for z € 9N and t > 0.

Then, the solution to the original problem is given by
u(z,t) = v(z, t) + w(z,t).
Where we can proof this by
Au(z,t) —u(z) = Av(z,t) + Aw(x) —ve(x) —0=0, z€Q,t>0.

The initial conditions are

u(z,0) =v(x,0) + w(z,0) = g(z) — w(z) + w(z) = g(z),

and the boundary condition is also satisfied as

u(z,t) =v(z,t) + wz, t) =0+ w(x, t) = h(z,t), x€IQt>0.

As t — oo, we have that v(z,t) goes to 0. Therefore,
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tlggo u(z,t) = w(x,t),

which is physically consistent. If we maintain a nonzero temperature at bound-
ary, then temperature distribution will be governed by it after long enough
time.

5.1.5 Suppose the square plate of Exercise 1 is given an initial temperature
distribution u(x,y,0) = g(x,y) and then insulated so that heat cannot flow
across 02 (i.e., Ou/Jv = 0). Use an expansion in appropriate eigenfunctions to
describe the heat diffusion u(z,y,t).

We are given Neumann boundary conditions. Therefore, the eigenfunctions of
the Laplacian are

ori(z,y) = cos (?) cos (%),
Akt = 7; (* +1%).

Therefore, by (5), the solution to the heat equation is

u(z,y,t) = Z Ap e M b, y).
kol

Where we need to find Aj; by our initial conditions. We are given that
u(z,y,0) = g(z,y). Hence,

Uo = u(z,y,0) = ZAk,z¢kz($,y) = g(z,y).

k,l

Thus, we can therefore analyze the eigenfunctions. We are given that the eigen-
functions are ¢y (z,y) = cos ("?TTT) cos (l%y) As these are separate, it is natu-
ral to assume that the coefficients are separate. Hence, let’s assume A ; = B,C;.
Then,

Uo = %;Ak,l@cl(xvy) = %:Bk o8 (?) zl:Cl o8 (l%y) = 9(@y).

By applying Fourier series, we can find exact values for the coefficients By and
C.
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5.1.7 If u satisfies (1), define its heat energy by E(t) = [, u?(z,t)dx.

(a) If U = Q x (0,00) and u € C%1(U) satisfies (1) and either (i) v = 0 on
09, or (i) du/dv = 0 on 91, then £(t) is nonincreasing in ¢.

(b) Use (a) to conclude the uniqueness of a solution u € C%1(U) for either
the nonhomogenuous Dirichlet problem (9) or the corresponding nonho-
mogenuous Neumann problem.

We can compute the evolution of £ by

ié’(t):@/uz(x,t)dx:/uutdac:/uAudx.
dt ) Q )

If we integrate by parts, we find that

d ou
ZE) = — 2 —dS,.
Le) /Q|Vu| dx+/mu8vd5

Therefore, if we apply either Dirichlet or Neumann boundary conditions, the
second term is zero.

Because of the negative sign, the first term is either negative or zero. We can
also observe that £ = 0 implies u = 0 almost everywhere.

Next, we will analyze uniqueness. Suppose that u, v satisfy the heat equation on
2 and on 9 with the same boundary conditions (either Dirichlet or Neumann).
Then, it must be that w = u — v also satisfies the heat equation with zero

boundary conditions. This means that &,(0) = 0, which implies that &, (t) =0
for all ¢ > 0. Hence, we see that w = 0 except on a set of measure zero.

5.2.2 Let g(z) be bounded and continuous for z € R™ and define u by (19).
(a) Show [uz,t)] < sup{|g(y)] : y € R"}.

We have that

u(z,t) = - K(z,y,t)g(y)dy,

where g is bounded and continuous. Hence,
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lu(z,1)] S/ |K(z,y,t)g9(y)|dy < sup |g(y)| [ |K(z,y,t)|dy = sup [g(y)|,
n yeR” R” yeR”

where the last equality follows from [p, |[K(x,y,t)|dy =1 as K > 0.

(b) If, in addition, [g, [g(y)| < oo, show that lim;_, u(z,t) = 0 uniformly in
r € R™.

Given

1 _la—y|?
u(w,t) = ; K(:c,y,t)g(y)dy—w/ e g(y)dy,

where [p, [g9(y)| < oo, we have that

1 lz—y|? 1
)] < ——~ T < d
) < g [T o) < e [ latwlas

. le—y|? . . .
since e~ 4t~ < 1. The last term in the above inequality goes to zero as t — oo.

5.2.5

(a) Prove the following weak maximum principle for the heat equation in
U =R"x (0,7): Let u be bounded and continuous on U = R" x [0, T
with wg, Uz, € C(U) and uy — Au < 0 in U. Then

M= sup u(z,t) = sup u(z,0) =m.
(z,t)eU zeR™

(b) Use the maximum principle of (a) to show that the solution (19) is the
unique solution that is bounded in R™ x [0, T].

We can rewrite the above problem as

Theorem: Assume u € C(Ur UT'7) N C?1(Ur) N L>®(Ur) and u; — Au < 0 in
Ur :=Q x (0,T) where T'r = Q x {0} U9 x (0,T). Then,

sup u = sup u(z, 0).
Ur R™
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Proof.

(1) Let t<T,e>0,k>0:
w(z,t) = u(x,t) — ex|* — kt.

Observe that
wy — Aw < 2ne — k <0,

when k > 2ne.

(2) Observe that

lim w(z,t) = —oc.
|z] =00

So, we should take R > 0 such that

|z| > R = eR* > 2 sup u+ kT +1 = w(z,t) < — sup u — 1.
TER™ zERN

On the other hand, at (x,t) = (0,0) we have that
w(0,0) = u(0,0) > — sup u.

ERSING
Therefore, we can conclude that
Ssupw = sup w = __ max u.
Uz Br(0)x[0,7) Br(0)x[0,7]

(3) Let (x,t) € U, such that

w(x,t) = max w.
Ur

If0 <t <7, then wy =0 and Aw < 0. If ¢ = 7, then w; > 0 and Aw < 0. Both
of these cases are in contradiction with the observation made at (1). Hence,

max w = maxw(z,0).
Ur R™
(4) Let (x,t) € Up : Then (z,t) € Uz for some T < T and
u(z,t) = w(z,t)+elz|® +kt < r{ll{axw(x, 0)+e|x|> +kT < supu(z,0)+e|z|*+ET,
o e

where the last inequality is true because w < u. Let € — 0, then &k — 0:
u(, 1) < supu(z, 0),
R"’L

and therefore

sup u < sup u(z, 0).
Ur R™

The other direction is clear. Hence, we have shown that

sup u = sup u(z, 0).
Ur R™
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5.2.7 Heat conduction in a semi-infinite rod with initial temperature g(z) leads
to the equations

Ut = Uz, forz >0,t >0,
u(z,0) = g(x), forz >0.

Assume that g is continuous and bounded for z > 0.

(a) If g(0) = 0 and the rod has its end maintained at zero temperature, then
we must include the boundary condition u(0,t) = 0 for ¢ > 0. Find a
formula for the solution wu(z,t).

We rewrite the problem as

Ut = Ugg, forx > 0,¢t >0,
u(x,0) = g(x), for x>0,
u(0,t) =0, for t > 0,

where ¢ is continuous and bounded for > 0 and ¢g(0) = 0. To find a formal
solution of u(z,t), we can extend g to be an odd function on all of R. Then,

. g(z), if z >0,
i@ =47
—g(—=x), ifz<O.
Thus, we need to solve
Ut = gy, forz eR, t >0,
a(xz,0) = g(z), forzeR.

Therefore,
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a@w:/Kw%W@@

_(=—p? y>2

\/H / 9(y)dy
_ im[/owe‘%f”g(y)dw/_ome_w o )dy]
- im[/oooe“”z:”?g(y)dy 0°°e o ()dy] e /Omeydy_/oooeydy

zy

LRy ><e e )g(y)dy-

~ Vart Jo
=l

Hence,

(72+u )

u(x,t) 2sinh ( 5 )g(y)dy since sinh(z) =

“iih ¢

Thus, as sinh(0) = 0, we see that u(0,t) = 0.

(b) If the rod has its end insulated so that there is no heat flow at x = 0, then
we must include the boundary condition u,(0,¢t) = 0 for ¢ > 0. Find a
formula for the solution u(x,t). Do you need to require g’(0) = 07

We rewrite the problem as

Ut = Ugg, forx > 0,t >0,
u(z,0) = g(z), forz >0,
u.(0,t) =0, for t > 0,

where g is continuous and bounded for x > 0. To find a formal solution of
u(z,t), we can extend g to be an even function on all of R. Then,

m@{mm, if 2 >0,

g(—z), ifx<O.
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Thus, we need to solve

Ut = Ugy, fOI'J)ER,t>O,
w(x,0) = g(x), forx € R.

Therefore,

u(x, 1) Z/K(m»w)g(y)dy

_ (== y)2 -

F / 9(y)dy

1 /°° = y) y)d +/O ()d
= — e
Vart | Jo y 00 Y
1 (e y) X (ety)? 0 e
= — e~ y)d —|—/ 4 d since/ evd :/ e Yd
\/H[/o )dy ; 9(y) y] v= Yy

712+2zy y? —22 _2zy—y? d
+e it
Tw / 9(y)dy

_ =24y zy —azy
- \/ﬁ © " (6“ te® )9(y)dy.
0
Hence,
u(@1) \/E/ — "2 cos h<2t) (y)dy  since cosh(x) = e fte”

To find out if ¢’(0) = 0, we need to check the boundary condition.

_ (@2+y?)

ug(z,t) \/7/ it 2cosh (%)]g(y)dy

2 _ G2y e
\/7/ [ T - sh( t)+e_( T )2§tsinh(zi)1g(y)dy'

i ey _
1 (0, 8) = \/E / [ 2.cosh(0) + ¢ 22ts1nh(0)]g(y)dy 0.
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5.2.9

(b) Verify the following elementary fact: If 0 < o < 1 and 8 > 0, then there
exists a constant M = M («, 3) > 0 so that z%e™* < Me™% for all z > 0.

We are given that Pe% < Me =, Thus,

PeF < Me™™ =— M > zﬂe(a_l)z,

which is clearly true since for a fixed z > 0, we have that the product of a scalar
with another scalar will be less than or equal to a constant. Observe that z” is
bounded and that e(®*~1)# will also be bounded since 0 < o < 1.

(¢) Use (b) to verify the following estimates:

M1 2

- - N Mo ~
0K (z,t) < —K(z,2t), 0., K(z,t) < —=K(z,2t),
t Vit
- Ma ~
Oy, K (2,1) < T?’K(x,Qt).
We have that
~ o 1 _lz?
K(x,t) = W@ 1

Therefore,

which can be rewritten as

K (x,t) < %

K(x,2t),

for some constant M;. For the second inequality, we have that
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e~ 3 (e ) = (o) (%),

which can be rewritten as

0y, K (2,1) < %K(x,Qt),

for some constant Ms. Performing a similar calculation will show that

O, K (2,1) <

Ma ~
TSK(:E,%),

for some constant Ms.

5.2.11 Find a formula for the solution of the initial value problem
{utAuu, fort >0, x € R™,

u(z,0) = g(x), forz e R,

where ¢ is continuous and bounded. Is the solution bounded? It it the only
bounded solution?

Let v(w,t) = elu(z,t). If we substitute v into the initial value problem above,
we find that

vy = Av, fort >0, x € R",
v(z,0) = g(z), for xz € R™

Then, as g is continuous and bounded in R", we know from Theorem 1 that

1 _le—y?
v(z,t) = ; K(%yat)g(y)dy:w/R e g(y)dy,

and as v(x,t) = e'u(z,t), we have that

_ 1 _le—y?
uat) = o) = o [ S gay
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Therefore, u(x,t) must be bounded since v(z,t) is bounded. To show unique-
ness, assume that we have another solution ¢ such that

U = A, fort >0, x € R”,
(x,0) = g(z), for x € R™.

Then, w = v — ¥ must be solved by

wy = Aw, fort >0, x € R",
w(z,0) =0, forzeR™

But, we know that bounded solutions of the above initial value problem are
unique. As w is a nontrivial solution, we have that w is unbounded. Hence,
as w = v — U, it must be that ¥ is unbounded and it follows that the bounded
solution v is unique.
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